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PERCENTAGES TO USE WHER FIGUFE 6 CURVES ARE APFLIED TO -
FERIODS OTHER THAN 09.090 - 17.00
CURVE 1" YIG. 6 ugs”n n90,1u uas,’,n "507:'" 1-70,'4_-- Ilso;r:n
Alternative Period Fercentage of Alternative Period
07.00 - 15.00 95 90 85 80 70 60
08.00 - 16.00 100 100 95 © 85 70 60
07.00 - 17.00 95 o5 i 65 55 45
06.00 - 18,00 15 70 65 60 S0 40

ASIHIIN N, 1 UAANANI UM FWMSUBIN LIRS UEN 0N

u.

Transmittance

Materials
) A fuse Trnnsmit- Correction
Material ¥ ance s L .
; ce ) of Glans Fanctor
Polished Plale/Floal Glass 0.95
Sheel Glass 0.8
Heat Absorbing Plate Glass &
Heal Absorbing Sheet Glass === | 1
Tinted Polished Plate 0.6
Figure Glass 0.45
Corrugated Glass 0.35
Glass Block *
Clear Plastic Sheel 80-92
Tinted Plastic Sheet 90-42

(u)
Colorless Palterned Plastic 80-90 ¢
" White Translucent P

Glass Fiber Reinforc M EJ ’J Vl E’m i w ﬂ l] ﬂ j
Double Glazed—2 Li SS
Tinted Plus Clear 37~45

Reflective Glass*® -60

”’I’JWEHQEI

AT WHUIN N, 2 uaaQéwnwﬁéquuuﬂv ua~GQﬂusznauun1u ,
(n) uaﬂqﬂﬁnWSaqwﬁuuaquaqﬁaﬂnn1qwnun1ua~wa1aﬂn
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Reflectances of Building Materials and
Outside Surfaces

Rellec-

Reflec-
*Mat srial ‘?::re Malerial '(a::f
cenl) cent)
Bluestone, sandstone 18 Asphall (free irom 7
Brick dirt) . ¢
" light but! 48 Earth (moist culti- 7
dark buft 40 - vated) ;
dark red glazed 30 Granolite pavement . 17
Cement - 27  Grass(dackgreen) .6
“Concrele ~ 40 Gravel 13
Marble (whil 2) 45 Macadam 18
Painl (white) Slate (dark clay)
new 75 Snow
old 55 new
Glass old

clear
reflective
tinted

Vegetati

A1 NHUIN 0.3 UFANAINY:
(N) udnA

(¥) U&n

Locallty i

Averege Correction
Reflectance Factor
»
154° 0.95
207 1.00
25% 1.05
30% 1.10
35% 1.15
40% 1.20

(v)

'l nMulueInNg

2
THFWTOTIUNTHE NoU

m 30° - o°
1
Cm‘;nt;y 07 Outy Clean .gs
Suburban /Lren Dirty : 0.
, — o
Bullt- | Qs = 8-
‘ Reoide al| 1. D ! . 0:
peint - | Cleon 0.7 0.55
Industrial hrea Du‘ty 0.5 0 35 Qs 0.25

ﬂ;l“i "!m ]a)q ma’]\aﬂﬁﬂﬂ‘l ﬂﬂU‘ifm

ﬁiN (i
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Example of a table of recommended illuminances

Type of interior, task Range of service Type of interior, task Range of service
or activity ,2illuminance (lux) or activity illuminance (lux)
GCeneral building areas . Chemical works

Circulation areas,

utomatic processes 50 - 100 - 150

> y ction plant requiring
= al intervention 100 - 150 - 200

terior~plant

corridors 50 -
Stairs, escalators 100

Stores and stockrooms . _

200 - 300 - 500
Aircraft hangars laboratories 300 - 500 - 750

- sl tooms,
\\\\! 1 manufacture 300 - 500 - 750
Inspection and repairs ‘ ‘ 500 - 750 - 1000

ing 750 - 1000 - 1500
anufacturing 300 - 500 - 750

Aircraft-engine testing s : chi

Assembly shopsa

Rough work, heavy

machinery assembly 50 - 100 - 150

Medium work, engine ltar, pulpit 150 - 200 - 300

assembly, vehicle body

assembly % ¢ - actqries
Fine work, electronic and. - : - — ‘!V .
office machinery agsembly j ., 500 - 750 - 1000

Very fine work, instrument 750 - 1000 - 1500

300 - 500 - 750

mm - 1500 - 2000 Prs.sum_,mm
wee FUHINYY FME0RS

assembly

Theatres and concert halls 50 - 100 -g" 150 Cabl anufacturan 200 - 300 - 500
Multl—purposﬂ Wf] a Qﬂim &1 mnﬂé&rﬂ ﬁ 300 - 500 - 750
indi 500 - 750 - 1000

Cement 1ndustry Assembly of radio and

television receivers 750 - 1000 - 1500
Grinding, kiln room 100 - 150 - 200 Assembly of ultra-precision :

parts, electronic :

components : 1000 - 1500 - 2000

GO WHLIN N.5  WEANAIAT AT WATIAR WREA A ) a1 N L2 AUND WA ey
g * .
CIE @ WSUN M M3DNINTIHUSE LANAIN 7] NBTHO 1819



Exonpls of o table of cocommendud $llumingoces
« Type of lnterioic, tauk “ange of gervice
ot activity illuminance (lux)

Hoodworking shopy snd

furniture fectories

Sew mills } = 300

~ 500

- 750

~ 1000

- 750

- 1000

- 1000

- 750

g0 - 750

ot 00 - 500 - 750

G afting 500 - 750 - 1000

ﬂtheatrea

AUBRHININ IS -

alkboar 1000
demonstratiod benches 2500 - 750 - 1000

9 RI8g0F1 ZJWI'J“V]EL‘J &i“&l
Work shops 300 - - 1750

Assembly halls 150 - 200 - 300

@15 WHUIN N5 uaﬂqé1ﬂ11uaiwqéﬁqﬂ URE A A 190 1z AHND UA A

CIE & WU w3afanssuuse thind v 1 niniuo ey (@)



Example of o table of recommended illuminances

Type of interior, task Range of service Type of interior, task Range of service
or activity illuminance (lux) or sctivity illuminance (lux)
Electricity generation Glass works and pottery

gtations

nace rooms 100 - 150 -- 200
Boiler house // rooms, forming,

kiln rooms 200 - 300 - 500

y enamelling,

Turbine building
operating floor
below operating floor A 300 - 500 - 750

Auxiliaries, pumps, tanks, VWeol » decorating 500

- 750 - 1000
compressors, gauge area enses and crystal ‘
Cable tunnels, cable room e work - 750 - 1000 - 1500

Telephone and communication
equipment rooms
Control rooms

desks

vertical panels

rear of panels

50 - 100 - 150
2

ction plants requiring

Food industries

ional intervention 100 - 150 - 200
pied work

0. pla@)rms and

General working areas R oo

A

Automatic processes 200 - 300 - 500

Hand decorating, inspection Em - i

» ' ' anpection 300 - 500 - 750
Foundries 1!| E I t E i
qundry bays ﬂ u &J 200 :ﬂ V]
Rough mouldlng, rough Gener&l work ereas 200 - 300 - 500 :
core making W’] a&n i(fu %ﬂ !}nﬁ-{] anEJ
- Fine moulding, tote shoe production 500 - 750 - 1000
making, inspection 300 - 500 - 750 Grading, matching, quality

control 750 - 1000 - 1500

: LRy ., ; g 3
AN .5 WEANATIATINAINATAR UaE AT NI NG AN wia Ty
'  CIE #WSUu uSananssuuss LOnA 9 ngiua1aas £ ke



Example of a teble of recommended illuminances
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CIE WSS MIBNANTTHUSE LANAIN 1 MIBN0IA Y (ahe)

Type of interior, task - Range of service - Type of interior, task Range of service
or activity illuminance (lux) or activity illuminance (lux)
Libraries Paper mills
Shelves, book stacks ‘ Paper and board making 200 - 300 - 500
(vertical) 150 - 200 = o atic processes 150 - 200 - 300
Reading t,ables . 1on, sorting 300 - s00 - 750
Counters, cataloguing
and sorting
Binding
‘Hachine and fitting shop ine room 300 - s00 - 750
3, proof
Casual work 500 - 750 - 1000
Rough bench and machine
work, welding etching 750 - 1000 - 1500
Medium bench and machine ' oduction and
work, ordinary automatic 1000 - 1500 - 2000
machines 300 ; ‘ copper engraving 1500 - 2000 - 3000
Fine bench and machine ; '___fm “Bookbinding 300 - 500 - 750
work, fine-automatic g i g‘"_-{; fiaming, embossing . e 750 - 1000
machines, inspection and | : > ;
testing ‘ () g!
Very fine work, gauging - ?
" and inspection of small m General ligmng of shops -
intricate parts 10@ 1500 - 2000 in large commercial
' Uﬂ?ﬂﬂﬂiﬂiﬁﬂﬂi
Paint shops and spraﬂ ‘ 300 - 500
boothg - sup - and hyper mawt 500 - 750
Dipping, rougﬂawftl a qﬂnm ﬂ blex]il} xidlﬂr] a E]
Ordxnary painti g,
spraying and finishing 300 - 500 - 750 Bale bresking, carding,
Fine painting, spraying drawing . 200 - 300 - 500
and finishing 500 - 750 - 1000 Spinning, winding, reeling, k
Retouching and matching 750 - 1000 - 1500 combing, dying , 300 - 500 - 750
E ' Beaming, spinning (fine s
counts), twisting, weaving 500 - 750 - 1000
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program DLMAIN; .
uses DOS,CRT, DLVAR DLTYPE;
begin
ch:=40;dl:=1;
while ch<>ESC_Key do begin clrscr}
while ch<>Return_ _key do begin Normvideo;
tor 112l ito 79 do begin gotoxy(i,1);write(’ =");end;
gotoxy(28,2) ;write(’ | GHTING DES'[GN ’),
for i:=1 to 79 doweg 3!
gotoxy(29,8) ;writs

gotoxy(29,

gotoxy(29, | tel : ISKY; AND - § OOTH ROOF
goloxy (29,18 . b | ‘ T AND MONIIY)R ROOF
for i:=1 tge® i, 8, % g('~");end;
gotoxy(

text backgr c
case dl of

(YLIGHT AND SAWTOOTH ROOF W
: SKYLTIGHT AND MONITOR ROOF ° )i

BN &) S -

Do;n :begin dl:=d +151E d1>6 then &= 1;end;
Nol__Key begin dl l,ch -Return _Key,end

__Key.begln dl -6 h -Return

ESC_Key:begin No: video :
w aq« hile gh Lmtl
ase o

Is begm VWindow;ch: =#0;end;
2:begin SKYroof,ch."#O;end;
3: :begin SAWroof; ch:=#0;end;
4:begin MONroof,ch. #0;end;
5:begin SKYSAW;ch:=#0;cnd;
6:begin SI(YMON,ch #0,cnd‘
cnd;
end; . {while clx()th_Kc.y do begin)
end. {program DLMAIN}

{ ******iﬁ**************=l=-1<**$********************************-11***************Ik*?ﬁ )
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unit DLTYPE;

interface
uses DOS, CRT, DLVAR, DLA_MNU,DLIN1, DLIN2,DLCAL, DLOUT, IODATA;

procedure VWindow;
procedure SKYroof;
procedure SAWroof';
procedure MONroof;
procedure SKYSAW;:
procedure SKYMON;

procedure ShowAss;

implementation

procedure VWindow;
begin
VW_ass ; ShowAss;
il ¢ch=ESC_Rey Lhen e
else begin

wind- =108 := 85.00;
lacat, i= 2.0 = 0.00;
lat = 13.5; b :=  0.00;
coi = 1.0 h2 = ~2.30;
workh = 95.0; ang2 := 0.00;
slope := 90.0;
while ch<>ESC_Key d gin-,

VWinput; e

if ch=ESC Key then c}

else begin ‘

if wws=
EintisEint cal{di e
min:

:=v)w-(0.1*r1; '
if (wind=1) and (ww<(0O 3%rl)) then begin

: wWi=0,3%r] ;Eint ;= s ;min:=0;end
Al U s T
? 0 i 1);nin:£0;end

; ql else begin Eint:=Eint_cal(dl) imin:=Eint-Eie;end;
until min<=0; "4

QIS 1INy

repeat
wwi=wwt(0.01%rl);
if ww>(0.9%rl) then begin
wwi=0.9%rl;Eint:=Eint_cal(dl);mi :=0;end
else begin Eint:=Eint_cal(dl) imin:=Eint-Bie;end;
until min>=0;end;end
e¢lse Eint:=Eint_cal(dl);
if (wind=1) and ((obs1=0) and (c1=0)) then begin
cri=70; wr:=50; fr:=15; gr:=5; gwi=wh; gl:=ww;
Ra:=RavF(cr,wr, fr,gr);
slope:=0; vi=rw; rw:=rh; rhi=v; am:=1;
Sk:=SkyF(r1,rw,rh,g].gw.am,slopc)/z;
Ev:=(Ee/2.5)*Sk*Gs¥Di*Ra; '
slope:=90; vi=rw; rw:i=rh; rh:=v; end;



VWoutput ;
end;
end; )
textbackground(black) ; textcolor(white);
end; :
end;
{ : = ==}
procedure SKYroof;
begin
Sky_ass;ShowAss;
if ch=ESC_Key then exit
else begin
locat := 3.0; rl := | i Ter . B0
lat = 13.8; rw : i wr := 50.0;
coi = 1.0; - i fess 20004
workh := 95.0; iV 8r i= 1040
; am := 150.0;
while ch<>ESC_Key
SKYinput;
if ch=ESC_Key
else begin
\ if ams='
\ in:=Eint-Eie;
am+1;Eint:=Eint_cal(dl);end;
end :
else if (
repeat - =
am:=amt L Fint ;- Al ymin:=Eint-Eie;
until = LAY
end_2 ‘.‘
end Tl At
else *"_ : ‘
SKYoutpu 1|
-end; U} %
end; !
textbackground( bljca; tex Lcolor(wh‘p ¥
end; ' ‘ ) ‘
- AUYINYNINYINT
( e ~ e

)

SEIRTRINTAUUNIINGIAY

if ch2ESC_Key then exit
else begin

locat . 1s 307 'pk i= 100.0; g1 := 49.00; cr := 50.0;
lat = 13.5; rw:i= 60.0; gw = 1.60; wr := 50.0;
coi #7000 thi=- '9.0; &h = 9.,00; fr :=20.0;
workh := 95.0; slope := 75.00; gr := 10.0;

tl i= 70.00;

sp := 10.00; ) -

while ch<>ESC_Key do begin
SAWinput;-
if ch=ESC_Key then ch:=ESC_Key
else begin 2
Eint:=Eint_cal(dl);
SAWoutput:;
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end;
end;
Lextbackground(black) ; textcolor(white); -
end;

‘procedure MONroof;
begin
Mon_ass; ShowAss;
if ch=ESC_Key then exit
else begin
locat.
lat
coi
workh
mt
slope

IR

g ey
o
L=

i B el o A T

MONinput;
if ch=ESC_Ke:
else begin
Eint:=Eint
MONoutput
end;
end;
tex Lbackground( blac
end;
end;

{

procedure SKYSAW;
begin s
Skys_ass;ShowAss 10 =
~ if ch=ESC_Key theh'@it

else begin =
locat := 3.0; & 1= 100.0; .00;
lat 15138 = 50.0; gwl : 1y 50
2 1.0 : =

coi 9.0; €l 60.00; :

ﬁumwmwmm

while ch<> C_Key do begin o/

. FEpnsam NNt

=Eint_cal(dl)
SKYSAWouL i
end;
end;

textbackground( black )i textcolor(whlte) §
end;

-

i II 1
Il u
n ll ll ll lI H

2
-e we we

tDOOOO-‘lD
OOOOU’IO

Creg
wr o

Egr :

wononou

= DN
(=i} - =]

procedure SKYMON; ‘
begin

Skym_ass ; ShowAss ;

if ch=ESC_Key then exit

oocoo
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else begin
locat := 3.0; rl1 := 100.0; gl1 = 3.00; cr := 50.0;
lat = 13.5; rw := 50.0; gwl = 1.50; wr := 50.0;
coli = 1.05. rh :=. 9.0; t1 1= 60.00; fr := 20.0;
workh := 95,0; slopel:= 0.00; gr := 10.0
- am := 70.00;
mt = 4,0;
sb := 25.00;
gl2 1= 49,00;
gw2 := 1,50;
sh = 9,00;
slope2 := 90,00;
£2 = 70.00;
sp = 20.00;

SKYMONin;
~if ch=ESC_Key
else begin
Fint:=Einl_
SKYMONout

end;
end; ;
tex tbac-kgroun d

procedure ShowAss;
begin

goloxy(1,5) ;write(’ Ass
te\tbackground(black) :
- chi=readkey;if ch=#0 then cl
end;

(—,

ke

end.

KRRk kR kkok sk okokok sk skok 'k

R R T am——

g KRR KRRk kK )
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unit DLINI; -

interface

uses DOS,CRT,DLVAR,IODATA,DLI_MNU,DLH_MNU;

procedure VWinput;
procedure SKYinput;

procedure SAWinputI
procedure MONinput;

implementation

{

!

var min,max:real;

begin

done:=false;z:=1;ch;
textbackground(b
gotoxy(1,1);VW_
gotoxy(10,24) jwrit
Shownum(22,5,6,0
Shownum(22,7,6,0,co
Shownum(22,9,6,0,wg
Shownum(22,12,6, 24
Shownum(22,15,6,2,ww) "
Shownum(22,18,6,0,
Shownum(22,19,6,2,cbs
Shownum(22,20,6,2,cl1)
Shownum(22,21,6,2,h1);
Shownum(22,22,6,2,angl)
while done<>true do be

repeat

procedure VWinput; 7 .

e

er
2:beggn Getnum(68,6,1,0‘1ocat,d1);

—

10,2 H
; 16,2,h2);

z:21;wri M: net); "
ackground(white) ; textcoior ( bgck) 3
’Windpw in one wall or two wall only’);end

write(’Location must be 1 or 2 or 3 only’);end

O = T e (R

end;

else begin textbackground(black);textcolor(white);
gotoxy(lO.Zﬁ);write(copy(str80,1,60));end;
Shownum(22,6,6p0,locat);

|
3:begin Getnum(47,7,1,0,coi,dl);

if (coi<l) or (coi>2) then begin ~
z:=3;write(#7) ;gotoxy(21,24);

textbackground(white) ; textcolor(black); g

write(’Class of industry must be 1 or 2 only’);end
else begin textbackground(black) ; textcolor(white);

gotoxy(10,24);write(copy(strBO,l,GO));end;
Shownum(22,7,6,0,coi);

end;
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4:begin Getnum(41,8,5,2,1lat,dl);
1t "(lat<B) or (lat>20) then begin
z:=4;write(#7);gotoxy(24, 24);
Lextbackground(whlte) textcolor(black);
write('Latitude = (5, 20) degree(N/S) ') ;end
else begin textbackground(black) textcolor(whlte),
gotoxy(10,24) write(copy(strBO 1,60));end;
Shownum(22, 8 6,2,1at);
end;
b begln Getnum(32,9 5, ,0,workh,dl);
if (workh<85,00) or (workh>95 00) then begin
2:=5;write(#7);gotoxy(19,24);
textbackground(whlte) textcolor(black);
write(’'% Working Hour = (85 ) of 9.00-17.00") ;end
else begin textbackground( \ EF lor(whlte).

gotoxy(10, 24),wr1te(c
Shownum(22, 9 6,0,workh)
end;
6: begln Getnum(32 1t 6 23
if ((wind<= 1;
—6.wr1te(#7 2

else wrlte("‘ ngit]
else begin text-:j ‘.

Shownum(22, 11 6,23
end; .
7:begin Getnum(32,12 ; L - \

if ((wind<=1) and 2 2 (e b >rl))) or
((wind>=2) and 0) Or (r#h3 ) rw>rl))) then begin

- "Rool .25,16.50) ")
else write( Romn = ')?);end

else if r1>32.20 then qﬁiﬁé{” .60,32.20)?)
else write('Room (7 ')iend

else begin texthes
gotoxy(lo 3
Shownum(zz 12 S TW
end; &
8:begin Getnum(32 12'3 -
if ((wind<= ls (

L3

((rh(Z 70) or‘(rh>4 50)) or E}rd<1 4999) or (rd>5 0)))) or
((wind>=2) and é((rh(Z .70) or (rh>3 50)) or ((rd<4. 5000) or (rd>14.0)))) then b

z:=8;write(#7) ;gotoxy(27,24);
‘ﬁmm 4 o i

7 then min:= .7

>4 50 then max:

aﬁﬁfﬁﬁwﬁlm@wwﬁ ¢

if max>3.50 then max:=3. 50;
write(]Room Height = ('.min 6:4,’,’ ,max:6:4,')’);end;end
else begin textbackground(black) textcolor(whlte),
gotoxy(10,24); wr1te(copy(str80 1,60));end;
Shownum(22, 13 6,2 rh),

end;
9:begin Getnum(32 15,6 2,ww dl);
if wwsg=! " then begin

if wind=1, then ww: =rl#0.6 else ww:=rl*0.75; g
textbackground(white) ; textcolor(black);
gotoxy (22, 15),write(wws), !
textbackground(black) textcolor(whlte) end

clse begin if ((wind<=1) and ({ww<(r1#0. 30)) or (ww>(rl¥0.9001)))) or



end;

10:begin Getnum(32,18,6,0,t1,d1);

end;
11:begin Getnum
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((wind>=2) and ((ww<(11%0.60)) or (ww>(r1#0.9001)))) then begin
z:=9;write(#7);gotoxy(25,24);
textbackgfound(white);textcolor(black); )
if wind<=1 then begin min:=rl#*0.30;max:=rl*0.90;
‘write('Window Width = ("ymin:6:2,’,' ,max:6:2,’)’);end
else begin min:=r1*0.60;max:=rl1*0.90;
write('Window Width = (’,min:B:Z,’,’,max:G:Z,’)’);end;end
else begin textbackground(black);textcolor(white);
gotoxy(10,24); write(copy(str80,1,60));end;
Shownum(22,15,6,2,ww) ;end;

if (£1<30.00) or (t1>100.

) 0) then begin
z:=10;write(#7

.l‘ 4); 4
y i [ lor(black);
< )’);end
extcolor(white);
QﬂPPY::::::::::f:);end;

Shownum( 2

2

0 & y] .
write(’'Expose buile = (0.00,2.00) ) ;end
else begin tpxtbackgrow textcolor(white);

13:begin Getriuim(3

end;

end;

AR TN A

if (

;

o'
243 3;write(#7)
te:

xgtabkground(white)'textcolor(black); :
write(®Overhang Space'inh vert cei= 0.00,’,wh:4:2,')’);end
: ) te t? ﬁwhite); :
T
(2 '2 10,4, 1 ;

then beg
igotoxy(20,24)

textbackground(white);textcolor(black);

write('Overhang Angle = (0,70) Degree’);end
else begin textbackground(black);textcolor(whité);

gotoxy(10,24);write(copy(strSO,l,SO));end;
Shownum(22,22,6,2,angl); s

15:begin Getnum(74,18,6,0,t2,dl);

if (t2<30.00) or (t2>100.00) then begin
- z:=15;write(#7) ;gotoxy(27,24); -
textbackground(white) ; textcolor(black);
write('Transmittance = (30%,100%)’);end :
else begin textbackground(black);textcolor(white);
; gotoxy(10.24);write(copy(strSO.l,SO));end;
Shownum(63,18,6,0,t2);
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end;
16 :begin Getnum(74,19,5,2,0bs2,dl);
if obs2>40.00 then begin
z:=16;write(#7);gotoxy(23,24);
textbackground(white);textcolor(black);
write(’Obstruction Angle = (0,40) Degree’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24);write(copy(str80.1,60));end;
Shownum(63,19,6,2,0bs2);
end; . )
17:begin Getnum(74!20,4,2,02.dl);
if ¢2>2.00 then begin ‘
z:=17;write(#7) ;gotoxy(23,24);
textbackground( )5 texteolor(black) ; :
write('Ex ‘ ling = (0.00,2.00)");end
else begin t ack) ; textcolor(white) ;

18:

;.ﬁ.;(black);
eptical = (0.00,’,wh:4:2,')");end
{)itextcolor(white);

Py ;i;L,l,GO));end;

19:begin Ge

2
or black) )
Degree’ ) ;end

)lé textcolor(white);
{str80,1,60));end;

XYL &V, <
ite); texte
. (09 \

Shownum(63,22,8
end;
end;

gotoxy( )iwrite(’< HELP MENU >;);got
textbackground(black);textcolor(white);.
ch:=readkda ch=#0 then chifreadkey;

S AT
1 &, 4 how! 22,8,6,2,1at);
S )

(3,2);

A,

hownum(22,9,6,0,workh) ; Shownum(22,11,6,2,rl) ;

. Shownum(22,12,6,2,rw); Shownuim(22,13,6,2, 1|
o PTG AR | Vi Hekd
Sh (22,19,6,2,0bs1); hownum(63,19,6,2,0bs2) ;
9 Shownum(22,20.6.2.c1); Shownum(63,20,6,2,c2) ;
Shownum(22,21,6;2,hl); Shownum(63,21,6.2,h2);
Shownum(22,22,6,2,angl); Shownum(63,22,6,2,ang2) ;
if wws=? ?'{then begin

textbackground(white);texteolor(black);

gotoxy(22,15) jwrite(wws);

textbackgroupd(black);textcolor(white);end;
end; -

. whi=rh-1.2; !
until (ch=End_Key) or (ch=ESC_Key) ;
if ch=ESC_Key then done:=true;
if ch=End_Key then begin _
if (wind<1) or (wind>2) then z:=1



i l-Ll
i -

else if (locat<l) or (locat>3) then z:=2

élse if (coi<l) or (céi>2) then z:=3

else if (lat<5) or (lat>20) then z:=4

else if (workh<85.00) or (workh>95.00) then z:=5

else if ((wind<=1) and (rl<4.60)) or ((wind>=2) and (rl<6.00)) then z:=6

else if (rw>rl) or
((wind<=1) and ((rw<2.25) or (rw>16.50))) or
((wind>=2) and ((rw<7.50) or (rw>32.20))) then z:=7

else if (rh<2.70) or ' :
((wind<=1) and ((rh>4.60001) or ((rd<1.4999) or (rd>5.000)))) or
((wind>=2) and ((rh>3.50001) or ((rd<4.5000) or (rd>14.000))))

then z:=8 :
else begin if wws=' | 2! then begin max:=0;
repeat

gotoxy(20,24) ; text
write('Internal I
Getnum(45,24,4 04k
textbackground
if (Eie>49

: -
until (max=l)P
~else if ((wind<=

end; :
if (t1<30.00) or
else if ((wind<=
((wind>=2)

else if c1>2.00 t
else if (c1>0.0
else if angl1>70.00
else if (wind>=2)
else if (wind>=2) anc
else if (wind>=2)
else if (wind>=2)
else if (wind>=
else done:=true;end;
end; {while
end;

procedure SKYinput;
var min,max:real; If
begin

1
done:=false;z:=1;ams:='?;ch:=#0;textba%tsround(black);textcolor(white);clrscr;

gotoxy(1,1);Sky_inp; L] ‘ ;
gotoxy(10,2 i | 5 ) s ’
Shownum(22, §, m ) f a |

Shownum( 22, Iy Col): | wwnum(22,7,6,2,1at) ;

Shownum(22, 8, 0,workh) ; Shoqpum(ZZ,ll.G, rl);

Shownum(22,12,6,2;rw); ' S 3
Sho 6 Q&, ) ‘j " %ﬁ{g,
Sho ( 13,602,s 3 4,6,
Shownum(60,15,6,0,t1); |
Shownm(40,18,6,2,cr); !
Shownum(40,20,6,2,fr); |
while done<>true do begin
repeat 7
case z of :
1l:begin Getnum(68,5,1,0,locat,dl);
if (locat<l)'or (locat>3) then begin
: z:=1;write(#7) ;gotoxy(23,24);
textbackground(white);textcolor(black); :
write(’'Location must be 1 or 2 or 3 only’);end
else begin textbackground(black) ; textcolor(white);
gotoxy(10;24);write(copy(str80,1,60));end;
Shownum(ZZ.S,G.O.locat):

Shownum(40,19,6,2,wr);
Shownum(40,21,6,2,¢r) ;



end; :
_2:begin Getnum(47,6,1,0,coi,dl);
if (coi<l) or (coi>2) then begin
z:=2;write(#7);gotoxy(21,24);
textbackground(white);textcolor(black);
write(’Class of industry must be 1 or 2 only’) ;end
else begin textbackground(black);Lextcolor(white)
gotoxy(10,24);write(copy(strBO,l,GO));end;
Shownum(22,6,6,0,coi);
end;
3:begin Getnum(41,7,5,2,lat,dl);
if (lat<5) or (lat>20) then begin
z:=3;write(#7) ;gotoxy(24,24);
textbackground(white) ;te tcolor(black) ;
write('Latitude ( 5 degree(N/S)’) ;end
e b )‘

gotoxy(
Shownum( 2

bt (32,1516, 1y
6:begin Getnum(32,12,6, y2a/
if (<4:80) or (rw>rl)

ACHRELOUNA

, 24 ite(
11;4;3%533;’

L —

end; : :
7:begin Getnuin(82,13,5,2,rh,d1jy/

Rl e A e e ——
L ro ite) ; textcolor(black);

U write(’Room Height = {3.00," ,max:6:2,"}")s ‘
else begin textbackground(blackstex : #lﬁﬂ
1 ; H s :
3 VbR
q Dy : ] :

8:begin Getnum(70,11,6,2,g1,d1);
if (g1<0.5) or (gl>rl) then begin
z:=8;write(#7);gotoxy(24,24);
textbackground(white);textcolor(black);
write('Glass Length = [0.50,7,r1:6:2,')’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24);write(copy(strBO,l,SO));end;
end; | :
9:begin Getnum(70,12,6,2,gw,d1) ;ga:=gwkgl ;af: =rltrw;
if (gw<0.5) or ((gw>gl) or (ga>af)) then begin
z:=9;write(#7) ;gotoxy(24,24); :
textbackzr?und(white):textcolor(black):
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write(’Glass Width = [0.50,’,g1:6:2,')’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(60,12,6,2,gw) ;
end;
10:begin Getnum(74,13,5,2,slope,dl);
if (slope<0.00) or (slope>25.00) then begin
z:=10;write(#7) ;gotoxy(27,24); :
textbackground(white) ; textcolor(black) ;
write(’Glass Slope = [0.00,25.00]’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;wrile(copy(str80,1,60));end;
Shownum(60,13,6, 2;sl0) .
end; =
11:begin Getnum(73;14,3,!

‘ ‘%‘;Eextcolor(white);
80,1,60));end; .

lack);
: 30.00,100.00] ') jend
ick) ; textcolor(white);

else begin te
tr80,1,60));end;

gotoxy(10,24 ‘
Shownum(ﬁQ,@ﬁ; :
-~ end; I

13:begini@

tex bagr_v solor( ck) ;
else begin textbackground(black);textcolor(white);
gotoky(10,24) ;write(cdpy(str80,1,60));end;
H
14: i '
f (wr<0.00) or (wr>100.00) th begin Qs
ggsé
[
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
end;
15:begin Getnum(50,20,5,2,fr,dl);
z:=15;write(#7) ;gotoxy(24,24); .
textbackground(white) ; textcolor(black);
else begin textbackground(black) ; textcolor(white) ;
gotoxy(10,24) ;write(copy(str80,1,60));end;
end; . /
16:begin Getnum(50,21,5,2,gr,dl);

write('Ceiling Reflectance = [0.004100.00]’);end

WESAVHNANEINT

( |; y9,2,wr,dl); : “
z:=14;write(#7);gotoxy(2
* Sfansn g
‘ ; 4 ‘ = J 0] 1)
q

Shownum(40,19,6,2,wr) ;

if (£r<0.00) or (fr>100.00) then begin
write('Floor Reflectance = [0.00,100.00]’);end -

Shownum(40,20,6,2,fr);

if (2r<0.00) or (gr>50.00) then begin

313
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z:=16;writp(#7);gotoxy(24,24);
textbackgrpund(white);textco]or(black);' )
. write(’Glass Reflectance = [0.00,50.00]"');end
else begin textbackground(black);textcolor(white);
gotoxy(10,24);write(copy(stﬁBO,l,GO));exui;
Shownum(40,21,6,2,gr);
end; . .
end; {case z of}
if ch=F1_Key then ]
begin-textbackground(black);textcolor(white);
clrscr;ch:=#0;gotoxy(1,1);Sky_help;
textbackground(white);textcolor(black);
gotoxy(1,2) ;write(’< P MENU >’);gotoxy(3,2);
textbackground(black olor(white);
ch:=readkey;if
clrscr;gotoxy(i,1)
Shownum(22,5 ¢
Shownum( 22,

Shownum( 22y srkh : »11,6,2,r1);
Shownum( 22 ; ol : | Show 3,6,2,rh);
Shownum( 60,11, 642 1)+ | ) ' 6,2,gw);

Shownum( 60,49, sXope )i |\ Shownuu 4,6,0,am);

2

until (ch=End_Key) o
if ch=ESC_Key then d
if ch=End_Key then begi
if (locat<l) or (loc
~else if (coi<1) or (coi¥2
else if (lat<5) or (lat>20]
else if (workh<86.00)
else if rl<4.50 then

else if

else if

else if or

else if or (gw: ;El
else if :<0.00) or (slope>25.00) then z:=
else begin if ams=' it ?’ then begin am:=0;

repeat f g |
2
b

S R A

textbackground(black) ; textcolor(white); Y,

WA TE1a Y

q (am<>1int am)) or (am<1.00)) then z:=11;end;

if%(t1<30.00) or (t1>100.00) then z:=12

else if (cr<0.00) or (er>100.00) then z:=13

else if (wr<0.00) or (wr>100.00) then z:=14

else if (fr<0.00) or (fr>100.00) then z:=15

else if (gr<0.00) or (gr>50.00) then z:=16

else done:=true;end; - g

end; {while done<>true do begin}

end; . ® A ¢

' |
{
procedure SAWinput;
var min.max:real;
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begin
done:=falsejz:i=1jchi=§0; textbackground(black) ; textcolor(white) jclrscr;
+ gotoxy(1,1);Saw_inp; '
gotoxy(10,24) ;write(copy(str80,1,60));
Shownum(22,5,6,0,locat);

Shownum(22,6,6,0,coi); Shownun(22,7,6,2,lat);
Shownum(22,8,6,0,workh) ; Shownum(22,11,6,2,rl);
Shownum(22,12,6,2,rw); Shownum(22,13,6,2,rh);
Shownum(60,11,6,2,g1); Shownum(60,12,6,2,gw) ;
Shownum(60,13,6,2,gh) ; Shownum(60,14,6,0,slope) ;
Shownum(60,15,6,0,t1); Shownum(60,16,6,2,sp) ;
Shownum(40,19,6,2,cr); Shownum(40,20,6,2,wr);
Shownum(40,21,6,2,fr); Shownun(40,22,6,2,gr);

while done<>true do begln
repeat
case z of
1:begin Getnum(68,

60)) ;end;

1 or 2 only’);end
color(white);

end;

end;
4: begln Py o
if (workh<85 00) or (workh>95 00) then begin
mte (#7) ;8otoxy(19,24);

R e o e

gotoxy(10,24); 1te(copy(str80 1 60)) end
Shownum(22 8,6,0% rkh

s )] 1198,

textbackgLound(whlte) textcolor(black),
write(’'Room Length = [4 50,and Up)’);end
clse begin textbackground(black);lextcolor(white); -
gotoxy(10,24); write(copy(strSO 1,60));end;
Shownum(22 11,6,2,rl);
end;
. 6:begin Getnum(32,12,6,2,rw,dl);
if (rw<4.50) or (rw>r1) then begin z:=6;write(#7);gotoxy(25,24);
textbackground(whxte) textcolor(black),
write('Room Width = [4.50, yr1:6:2,']1);end
else begin textbackground(black); Lextcolor(white);
gotoxy(10,24); wr1te(copy(str80 1,60));end;
Shownum(22 12 6,2 rw),
end;
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T:begin Getnum(32,13,5,42,rh,dl);
if r1<20 then max:=rl else max:=20;
if (rh<3.00) or (rh>max) then begin z:=7;write(#7);gotoxy(256,24);
textbackground(white) ; textcolor(black) ;
write('Room Height = [3.00,’',max:6:2,’)’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24); wrxte(copy(strBO 1,60));end;
Shownum(22,13,6,2,rh); -
end;
8:begin Getnum(70, 11 6,2,8l,d1);
if (gl>rl) or (gl<5 0) then begln z:=8; wr1te(#7),gotoxy(25 24);

write(’Glass Le th = BP0, ,rw:6:2,'), or');gotoxy(25,25);
write('Gla‘. X :

5, t th: 6 ,max:6:2,']1');end
else begin text ; textcolor(white);
gotoxy(10,24 ) ywrite(c r80,1,60)) ;end;

Shownum(GO Lﬁ,ﬁjﬂtgh);,,

else begln te tbackground(black) textcolor(whlte).

gotoxﬂ%&t),write(cowstzﬁo ,1,60)) ;end;

ELINETLINENT

(t1<30. 00)|or (t1>100.00) then begin
z:=12;write(#7) fBotoxy(22, 24)3.

q W’J ST e L

gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(60, 16,6,0,t1);
end;
13:begin Getnum(70 16,6,2,sp,dl);
if (sp>rl) orl(ap<1 0) then begin
z:=13;write(#7) ;gotoxy(26,24);
textbackground(white);textcolor(black);
write('Sawtooth Span = [1.00,',rl:6:2);end
else begin textbackground(black); textcolor(whlte),
gotoxy(10,24); WP1LP(00py(blI80 1,60));end;
Shownum(60, 16 6,2,8p);
end;
14:begin Getnum(50 19,56,2,cr,dl);
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if (ecr<0.00) or (cr>100.00) then begin
z:=14;write(#7) ;gotoxy(22,24);
textbackground(whlte) textcolor(black);
write('Ceiling Reflectance = [0.00,100.00]');end
else begin textbackground(black); textcolor(whlte),
gotoxy(10,24); wrlte(copy(strSO 1,60));end;
Shownum(40,19,6,2,cr);
end;
15:begin Getnum(50,20,5,2,wr,dl);
if (wr<0.00) or (wr>100.00) then begin
z:=15;write(#7);gotoxy(24,24);
textbackground(whlLe) Lextcolox(blach),
wrlte( Wall Reflectan [0.00,100.00] ") ;end
i ) textcolor(whlte),
0,1,60));end;

gotoxy(10,24)
Shownum(40,20,6

end;
16:

17:

);
) 100 00] );end
extcolor(white);
,60)) ;end;
Shownum( 40

end;
end; {case z of
it ch Fl_Key then it

) jwrit

und ( bl

ch:=re y;if ¢h=#0 then ch
clrser; ?ot QXY 1,1) ;Saw inp,

i ,Zﬁm‘mmmz;;

Shownum(22,13,6,2,rh);

—readkey.

um(60, 11 6,2,gl)s Shown (60 12,6 2.gw
QR ERal ERE
Shownum(40 21,6, 2 fr): Shownum(40,22,6,2,gr) ;
end

until (ch—End_Key) or (ch-ESC_Key),
if ch=ESC_Key then done:=true;
if ch=End_Key then begin
- if (locat<l) or (locat>3) then z:=1
else if (coi<l) or (coi>2) then z:=2
else if (lat<5) or (1a$>20) then z:=3
else if (workh<85.00) or (workh>95.00) then z:=4 5
else if rl<4.50 then z;=5
else if (rw<4.50) or (rw>rl) then z:=6
else begin if rl<20 then max:=rl else max:=20;
if (rh<3.00) or (rh>max) then z.-7.end.
if (gl>rl) or (gl<5. 0) then z:=8



- else
else
else
else
else
else
else
else
else
else

end;

end;

{

if (gw<0.3) or (gw>3.0) then z:=9
if (gh<rh) or (gw>(rh+1)) then z:=10
if (slope<60) or (slope>90) then z:=11
if (t1<30.00) or (£1>100.00) then z:=12
if (sp>rl) or (sp<=1.0) then z:=13
if. (cr<0.00) or (¢r>100.00) then z:=14
if (wr<0.00) or (wr>100.00) then z:=15
if (fr<0.00) or (fr>100.00) then.z:=16
if (gr<0.00) or (gr>100.00) then z:=17
done:=true;end; .

{while done<>tLrue do begin}

procedure

var min,max:real;

done:=false;z:=1 ;chﬁ

gotoxy(1,1);Mon_inp;
gotoxy(10,24) ;write(e f
Shownum(22,5,6,0, loca@)
Shownum(22,6,6,0 :

begin

Shownum(22,12,6
Shownum(22,14,6
Shownum(60,12,6

MONinput;

12, 8

Shownum(60,14,6, 24

Shownum(60,16,6,
Shownum(40,19,6,2,

while done<>true do

repeat

case z of

1:begin Getnum(

2:begin Ge

if (looat<l)
z:i=ljwrite

end;

um(47, 6 1 10,co0i,dl);
0 (001ﬁf) or (001>2)

-

%@mﬂ A

lse begln textbackground(black) textcolor(white),

);end

gotoxy(10,24); wdite(copy(stq&ﬂ 1,60)) ;end;

9 WIS IENN AN Y

if (lat<5) ori(lat>20) then begin
z:=3;write(#7) ;gotoxy(24,24);

textbackground(white);textcolor(black);

write(’Latitude = (5,20) degree(N/S)’);end
else begin textbackground(black) textcolor(whlte),

gotoxy(10, 24),write(copy(str80 1,60));end;

Shownum(22,7,6,2,lat) ;
end;

4:begin Getnum(32,8,2,0,workh,dl);
if (workh<85. 00) or (workh>95.00) then begin

z:=4;write(#7) ;gotoxy(19,24);

textbackgroqﬁ (white) ; textcolor(black) ;
write('% Working Hour = (85%,95%) of 9.00-17.00’);end
else begin textbackground(black); textcolor(wh1§e).

i W ——

(g!oummxtcolor( white) ;clrscr;
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gotoxy(10,24) ;write(copy(str80,1,60)) ;end;
Shownum(22,8,6,0,workh) ;
end;
S5:begin Getnum(69,9,1,0,mt,d1);
if (mt<1.0) or (mt>4.0) then begin
z:=5;write(#7);gotoxy(24,24);
textbackground(white) ; textcolor(black) ;
write(’Monitor Type : 1, 2, 3 or 4 only’);end
else begin textbackground(black);textcolor(white);
- gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(22,9,6,0,mt);
end; :
6:begin Getnum(32,12,6,2,r

'end
tcolor(white) ;
)) jend;
end;
7:begin Getnum(3 ) QLY TN~
if (rw<4 g ‘ en | N7, ¥ r1te(#7),gotoxy(25 24);

textbacl

else bégin gbatliground (black extcolor(white);
gotoxy{10,27 ite(copy(stré 50). ;end;
Shown 4 L R NN
end; F
8:begin Getn 32
if r1<20fthe ;=31 g
if (rh<3.00) off (rhdmax) £ egin ;-8 wrlte(#7),gotoxy(25 24);
textbackground( ) % (bla
write("Room Height = [3.0 %:6: ) ;end
else begin X Lisackgroun 2k) ; téxtcolor(white);
goto?y(IO , 24 Yiwrite .0 1,60));end;
Shownum(22,14,6,2 s@i@z
end; S '?H
9:begin 70,1
if ( ) or ~r A Le(#7) ;8otoxy(25,24);
s - &,“

: r');gotoxy(25,25);
, o B 6" ) B end
else begin textbackground(black) textce or(white),

gotoxy 0 24) wr1Le(copy(str80 1609

SR REATI A 1T

103be$1 tnum(7 1 10, )gwl 1);
(gw<0.3) or: (gw>3+0) then begi

R B dieen 4

else begin textbackground(black);textcolor(white);
gotoxy(10,24); wr1te(copy(str80 1,60));end;
Shownum(60,13 F 2,8w);
end;
11: begln Getnum(70, 14 6,2,gh,dl) jmax:=rh+1;
if (gh<rh) or (gh>max) then begin
zi=11; wr1te(#7) gotoxy(25,24);
: textbackground(whlte) textcolor(black),
- write(’'Glass Height = [’,rh:6:2,’,’,max:6:2,’]’); end
else begin textbackground(black); textcolor(white),
gotoxy(10,24); write(copy(strBO 1,60));end;
Shownum(60,14,6,2 gh),
end;
12 begin Getnum(70, 15 5 2.sb dl).
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if (sb<25.0) or (sb>50.0) then begin
‘ z:=12;write(#7) ;goltoxy(27,24);
textbackground(white) ; textcolor(black) ;
write(’% Sunbreak = [25.0, 50.0]’);end
else begin textbackground(black) ;textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(60,15,6,2,sb);
end; - ,
13:begin Getnum(70,16,2,0,t1,dl);
if (t1<30.00) or (t1>100.00) then begin
z:=13;writé(#7) ;gotoxy(22,24);
textbackgréund(white) ; textcolor(black) ;
write('Glass Transmittance = [30.00,100.00]’);end

else begin textback }
d

gotoxy(10,24) ;wri
Shownum(60,16,6,0, t1;

(black) ; textcolor(white);
ﬁBO,l,GO) ) ;end;

end; /
1 -

14:begin Getnum P
if mt=1 them-begin ‘!
i o
i (black) ; )
T or ',rl:68:2,' only');end

stextcolor(white);

‘(b ack) ; textcolor(white);
opy(str80,1,60));end;

max:=rl/3;
then begin

s (60
end; - f .

15:begin Getnum(50]19,5,2,cr,dl);

if (cr<@:00) or (cr>100.00) then begin
i i 'cail £ = .00]1 .001") ;end
al n c en

se begin textbackground(black);textcolor(white);
i ; &

gotoxy(10,24); (copy(str8941,60)) ;end; "
i e ik ikl
Ve rie el el BRBE
qlz gin Getnum(50,20,5,2,wr,dl); ;
if (wr<0.00) ior (wr>100.00) then begin

1
2:=16;writq(#7) jgotoxy(24,24);
textbackground(white) j textcolor(black) ;
write('Wall Reflectance = [0.00,100.00]’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(40,20,6,2,wr);
end; /
17:begin Getnum(50,21,5,2,fr,dl);
if (£r<0.00) or (fr>100.00) then begin
2:=17;write(#7) ;gotoxy(23,24);
textbackgrqund(white) ; textcolor(black) ;
write(’Floor Reflectance = [0.00,100.00]');end



else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(40,21,6,2,fr);
end;
18:begin Getnum(50,22,6,2,gr,dl);
if (gr<0.00) or (gr>100.00) then begin
z:=18;write(#7) ;gotoxy(23,24);
textbackground(white) ; textcolor(black) ;
write('Glass Reflectance = [0.00,100.00]’);end
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(40,22,6,2,gr);
end;
end; {case z of}
if ch-Fl _Key then

until (Ch‘End__KeY) or any

if ch=ESC_Key then done: -
"~ if ch=End_Key then beg1n,f?.pgjij

~if (locat<l) or (;v t>3) - ﬁﬁeg,t
else if (cok< .
else if (lat<
else if" (worklt
else if (mt<1.03
else if rl<4.50 'then
else if (rw<4.8

else begxn 1f rl 0 then max.-rl els max.-ZO

Sjﬁ ﬁ’iﬂ‘ﬁ
else i .
else 1f h<rh) or (gh>(rh+1)) then 2

else if (sb<25.0) or (ab>5 0) then z:=

CLARTEN e

if (sp<>nw) and (sp<>rl) then z:=14;end
else if mt=2 then begin mi rw/Z.max.-rl/Z.
if (sp<>m1n) and (sp()max) then z:=14;end
else if (mt=3) or (mt=4) then begin max: —r1/3,
if (sp>max) or (sp<1.0) then z:=14;end;end;
if (cr<0.00) or (cr>10q 00) then z:=15
else if (wr<0.00) or (wr>100.00) then z:=16
else if (fr<0.00) or (fr>100.00) then z:=17
else if (gr<0.00) or (gr>100.00) then z:=18
else done:=true;end; ‘!
end; {while done<>Lrue do begin}
end; ;

Wﬁ%maﬂ
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end. {unit DLIN)

C AMaNININAINAY



k]

unit DLINZ;

interface
uses DOS,CRE, DLVAR, TODATA , DL MNU DLH_MNU,;

procedure SKYSAWin;
procedure SKYMONin;

implemental.ion

begin :
done:=false;z:=1;
goLoxy(l,l);Skys_ij#" ‘
gotoxy(10,24) ;write(c (€180, 1,60
Shownum(22,5,6,0 ) / \'\
Shownum(22,6,6,0,coi 3
Shownum(22,8,6,0,
Shownum(22,11,642,
Shownum(64,10,6,2 ¢
Shownum(64,12,6,

Shownum(22,17,6,2
Shownum(22,19,6,07a

Shownum(64,17,6,2,4

Shownum(64,19,6,2,gh)

Shownum(64,21,6,0,t2 :

while done<>true do begin:=
repeat

case 2 of
1:begin Getn
1 5~ or (locat>3) then begir

2,8w2) ;
5,0, slope2) ;
2:8,2,sp);

k) ;

3 only’);end
color(white);
,60)) ;end;

TiLe
else begin textbackground(black); tﬁ
go oxy( 10,24); wrlte(copy(erSO
Shownuii(22,5,6,0, locat) jo./

AREIRENINNT

z:=2;write(#7) goto:\y(21 24):;

textback roun whit.e) texbﬁior black
QUMD e
5 w1 ite(copy ';tr8 b g d; /

o coxy (1
Shownum(22 6,6 0,co1),
end;
3:begin Getnum(41,7,5,2,1lat,dl);
if (lat<5) or (1at>20) then begin
z:=3;write(#7) ;80toxy(24,24);
lcxtbuckgl onmd(whil.e) Ltextcolor (l)luc,k) ;
write('Latitude = (5, 20) degree(N/S) ') jend '
else beglin textbackground(black) ;textcolor(white); -
gotoxy(10,24); wrlte(copy(su80 1 60)) end;
Shownum(22,7,6,2,1at);
end;
4:begin Getnum(32,8,2,0,workh,dl);

);er

SR SN L i D R TS //- = ] g S S
procedure SKYSAWin; s . ‘//)
back rotﬁ textcolor(white) ;clrscr;
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.

if (workh<85.00) or (workh>95.00) then begin
z:=4;write(#7) ;goloxy(19,24);
textbackground(white) ;textcolor(black);
write('% Working Hour = (85%,95%) of 9.00-17.00’ ) jend
else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;write(copy(st.r80,1,60));end;

Shownum(22,8,6 ,0,workh) ;
end; ‘

:begin Getnum(32,10,6,2,r1,d1);

if rl<4.50 then begin z:=5;write(#7);gotoxy(27,24) 4
textbackground(white) ; textcolor(black);
write('Room Length = [4.50,and Up)’);end

else begin texLl);\t,' LErALnC ack) ;textcolor(white);
gotoxy(10, 2 wri te ’

b
‘ r80,1,60)) ;end;
Shownum(22,10,6,2, v /
end; : i
6:begin Getn oy Z
if : ! "

=6;write(#7) ;gotoxy(25,24);

ai(black) ;
od 18 50 L2, '] ) end
else begisf™ g ‘, ; % xtcolor(white);

4 ) 18 *n- ))end;
end; A

7:begin Getm
max
if (

e g 27=Twrite(#7) gotoxy(26,24) ;
xteolor(black) ;
ight-=43.00, ;max:6:2,')’);end
kground(black) ; bextcolor(white);
writc(eopy (str80,1560) ) ;end;
NeRr \ A
| e
8:begin Getnum(74, 10552 cr,d
if (cr<0.00) or~ hen begin
z:=8;write( :
textb ; lagit) ;
| 'Ceil ce = [0,00 #100.00]1’) ;end
: color(white);
yend;
end; " - :
tbegin Getnum(74,11,5,2,wr,dl);

if (wr<@.0Q) or (wr>100.00) then begin

IR RRAAT

else begin textbackground( black) ; textcolor(white);

QWA TRY

if (fr<0.00) or (fr>100.00) then begin
A Zz:=105wei Le(H7) jgoloxy(24,24) ;
textbackground(while) jLexteolor(black) ;
write('Floor Reflectance = [0.00,100.00]');cend
else begin textbackground(black) ;textcol or(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;

Shownum{64,12,6,2, fr);
end;

11:begin Getnum(74,13,5,2,gr,dl);
if (gr<0.00) or (gr>50.00) then begin
z:=11;write(#7) ;gotoxy(24,24);
textbackground(white) ; textcolor(black);
write('Glass Reflectance = [0.00,50.00]");end
else begin textbackground(black); textcolor(white);
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gotoxy(10,24) ;wrile(copy(sLr80,1,60)) yend;
Shownum(64,13,6,2,gr);
end; )
12:begin Getnum(32,17,6,2,411,d1);
if (gl1<0.5) or (gli>rl) then begin
z:=12;write(4#7) ;gotoxy(24,21);
textbackground(white) ; textcolor(black) ;
write(’Glass Length = [0.50,',rw:6:2,'), or’ )
write('Glass Length = [0.50,',r1:6:2,)?) ;end
else begin textbackground(black) ;tex teolor(white)
gotoxy(10,24) ;write(copy(str80,1,60));end;
Shownum(22,17,6,2,g11);
end; ‘
13:begin GeLnum(i)SZ,,lS, 125 1))
if (gwi<0.5) or (gwl>g i gin
z:=13;wri a%:::""!"» ,/f o
textbackgraund(white) ; teledTorlblack) $
write('Glass "Width :;,JO. kil 2 , ' ) ' ) s ond
slexbeolor(white) ;

else begin Lexlbaekzground(blae
gotox X l"gg'e(ao ste80, 1,607) ;end;

Shownum(22, 1876 A
end; /
; A '/; }

14:begin Getnum
ga:=gll
nf

(ga¥af)
z:=14 ;b ]

textbackg :
write('G Au R1S% ,maxs4:04.']" ) ;end
else begin tex! , ‘ nd gy lor(white);

gotoxy( 1052
Shownum (224519

end;
15:begin Getnum(32520,240
if (t1<30.000" oxy{
z:=15;write(#7)

jen begin

;
slor(black) ;
130500,100.00] ") ;end

»lor(white)

gotoxy Gywiilelcopy (st Leénd;
Sho 5,0,t1); ‘F"‘ :
end; : < i
16:begin Getz,ﬂn(u, 7,82
- if (gl2>fl) or (gl2«<
textba

ound(white) ; t olor(black);
i h o= [ 'n By §6ae , 2 ') ;gotoxy(25,25);
El A B s B T
e | téxt ( tcdlor(white) ;

|gotoxy(10,24) ;write(copy(str80,1 ,60)) ;end;
Shownum(64,17,6,2,g12) ; = L

VRO REN NN 0118)74

5.,0) then begin z:gs;write(#ﬂ;gotoxy(25,24);

2:=17;write(#7);gotoxy(24,24);
textbackground(white) ; textcolor(black);
write('Glass Width = [0.30, 3.00]’);end

else begin textbackground(black);textcolor(white);
gotoxy(10,24);write(gopy(strBO,l,GO));end;

Shownum(64,18,6,2,gw2) ;

end; i
18:begin Getnum(74,19,6,2,gh,dl);max:=rh+1; 7
if (gh<rh) or (gh>max) then begin

: z:=18;write(#7) ;gotoxy(25,24);
textbackground(white);textcolor(black);
write(’Glass leight, = [',rh:6:2,"," ,max:6:2,']");end

else begin textbackgrodnd(black);textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));end;



Shownum(64,19,6,2,gh);
end;
19:begin Getnum(76,20,2,0,slope2,dl);
if (slope2<60.0) or (slope2>90.0) then begin
z:=19;write(#7) ;goloxy(27,24);
textbackground(white) ; textcolor(black);
write('Glass Slope = [60.0, 90.0]');end
else begin textbackground(black) ;textcolor(white);
gotoxy(10,24) ;write(copy(str80,1,60));cnd;
Shownum(64,20,6,0,slope2);
end;
20:begin Getnum(74,21,2,0,t2,d1);
if (t2<30.00) or (420100 0) then begin
—20 swrite(#7); ’ .

\

30.00,100.00]" ) ;end
sbextcolor(white);

Shownum(

end;
21 :begin Getn
1

2 101(\d11(e).
) ;end;

end;

Fl1_Key:begin textbackgrous lehstextcolor(white) ;
clrscr;ch:=#0; go elp’
textbackground (whit black) ;
; gotoxy(l 2),wr ’ 2) ;gotoxy(3,2);

6.2 lal);

'm).G.Z,rl):
12,

ownum( 22
6,2,ch});

Shownum(22
Shownmll(ﬁfﬁﬁﬁ y2,cr); {mwnum(ﬁft e e wr;;
‘ 1T, gr);
S I EN TS

wnum(22 19,6 O,am), Shownum("2 20.6.0 tl),

qwammﬁwmwmﬁ.

end;end;
unlll (ch=Fnd_Key) or (ch=ESC Key);
if ch=ESC_Key then done:=truec;
if ch=End_Key then begin
if (locat<l) or (local>3) Lhen z:=1
else if (coi<l) or (coi>2) then z:=2
else if (lat<b) or (lat>20) then z:=3
else if (workh<85.00) or (workh>95.00) then z:=4

Shownum(22, 11 6 2,1'w),

else if rl<4.50 then z:=5 :

else if (rw<4.50) or (rw>rl) then z:=6

else if (rh<3.00) or (rh>(0.9+r1/1.50)) then z:=7
else if (cr<0.00) or (cr>100.00) then z:=8

else if (wr<0.00) or (wr>100.00) then z:=9

else if (fr<0.00) or (fr>100.00) then z:=10
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else
else
else
else
else
else
else
else
else
else
else
else

end;

{

if
if
if
if
if
if
if
if
10
1£
if

(gr<0.00) or (gr»>50.00) then z:=11
(g11<0.5) or (gll>rl) then z:=12
(gw1<0.5) or (gwl>gll) then z:=13
((gll*gwl*am)>(rl*rw)) or (am<>int(am)) then z:=14
(t1<30.00) or (t1>100.00) then z:=15
(gl2>rl) or (g12¢<5.0) then z:=16
(gw2<0.3) or (gw2>3.0) then z:=17

(gh<rh) or (gh>(rh+l)) then z:=18
(slope2<60.0) or (slope2>90.0) then z:=19
(t2<30.00) or (t2>100.00) then z:=20
(sp>rl) or (sp<=1.0) then z:=21

done:=true;end;

endy o v vy eioiin o v s s hile done<>Lrue do begin)

procedure SKYMONin; . — 2
var min,max;real; — ;

=false;u: —1(

gotoxy(1,1);Skym_inp;
gotoxy(lO 24),
Shownum(22,4,6,0
Showqhm(zz.ﬁ,ﬂ
Shownum(22,7,6,0,

begin
done:

; , "" \ \\\
?Shﬁi' m" T VT

Shownum(22,10,65

Shownum(22,12,6, ’ A Ay '
Shownum(64,10,6, _ Shéwntim( 64,11, 652, wr) ;
Shownum(64,12,6, : WG4 1 2 ar);
Shownum(22,17,6 2,18,6,2,gw1);

Shownum(ZZ,ZQ,S,O,amy; A2 —Sho ¢ 6,0,t1);
“Shownum(64,17,6 12,8 4 2,gw2);
Shownum(64, 1% I b);
Shownum (64,21 '"-' __ Shownum{64,22 6,2 sp);

O O O o ]

while done<> t ; \‘

repeal

case z of GIHL
1:begin um( 68, 4 1,0,locat,dl);

q 1q‘;T?lown “n ﬁ

QAN i e
gin tex Mb ack) ; textcolor(white);

ﬂ]

then begin
124) 5

L (lo t<l) dr (1ocat>3
Zi= ﬁte(#?) gotoxy

);end

gotoxy(10,24); 1te(coPY(st 80,1,60)); end

(coi<l) or (coi>2) then begin
go=23 wr1te(#7),fotoxy(21 24);
textbackgzound(whlte) textcolor(black);

write(’Class of Lndustry must. be 1 or 2 only’);end

else begin textbackground(black); Lextcolo:(white),

gotoxy(10,24); wr1te(copy(str80 1,60));end;
Shownum(22,5,6,0,coi);

end;
3:begin Getnum(41,6,5,2,1at,dl);

if (lat<5) or (lat>20) then begin
z:=3;write(#7) ;80loxy(24,24);
‘ textbackground(whlte) lextcolox(h]nth),
write(’Latitude = (5, 20) degree(N/S) ') ;end
else begin texlbackground(bluck);textcolor(white);

T NYIRY
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goLoxy(lO 24),w:1t9(‘opy(stBO 1,60)) ;end;
Shownum(22,6,6,2,1at);

end;
4:begin Getnum(32,7,2 10,workh,dl);
if (workh<85, 00) or (workh>95.00) then begin
z:34; wr1te(#7),got0\y(19 24);
textbackground(white) ; loxlco]ox(bhuld,
write('% Working Hour (85%,95%) of 9.00-17.00");end
else begin Le;tbackground(bldck) Lexleolor(white);
gotoxy(10,24); wr1te(copy(str80 1,60));end;
Shownum(22,7,6,0 wotkh),
end;
5 begxn Getnum(69,8,1, 0 nkdl) ;

‘ 6@ z:=7;write(#7);gotoxy(25,24);
black);
16:2,2)%) send
el diblack); textecolor(white) ;
gotoxy(10,~ = opy(strd0,1,60));end;
Shownum( 22,

0,

2:#8 write(#7) ;gotoxy(256,24);
ack);

2y Jeend

color(whxte),

Shown (10 24) wrlte(iﬁgy(str80 1,60));end;
Mol AR (TR

qu 1f (cr<0. 0) or (cr>100.00) then begin

- z:=9;write(#7)ggotoxy (22,2

ol AsE e o

gotoxy(10, 24).write(copy(str80 1 GO)J,end,
Shownum(64,10,6,2,cr);
end;
10: begin Getnum(74 11, 5% wr,dl);
if (wr<0.00) or (wr>100.00) then begin
z:=10; writo(#7) jgotoxy(24,24);
textbuckground(white) textcolor(black);
write('Wall Ref]cctancc = [0.00,100.00]");end
else begin textbackground(black); Le\lcolor(whlte).
gotoxy(10,24); wxlie(copy(strBO 1,60));end;
Shownum(64,11,6,2,wr);
end;
11: begin Getnum(74,12,5,2,(r,dl);
if (£fr<0.00) or (f1>100 00) then begln

qn te( 00, " ,maxii@:
els-”u-gln textbackground(black) te
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z:=11;write(#7);gotoxy(24,24);
textbackground(white); textcolor(black);
write('Floor Reflectance = [0.00,100.00]");end

else begin textbackground(black);textcolor(white);
gotoxy(10,24) ;writc(copy(str80,1,60));end;

Shownum(64,12,6,2, fr);

end;
12: begxn Getnum(74,13,5, Z,gr dl),

if (gr<0.00) or (g1>00 00) then begin
zi=12;write(47) ;goloxy(24,21);
Lextbackgl ound(while); t.e)d color(black);
write('Glass Refl ctance = [0.00,50.00]");end

else begin textb: ck); textcolor(white);

gotoxy(10,2: ~80,1,60) ) ;end;
Shownum(64 1 \\\ ‘
end;
13 bog,ln Ge tnuin(s2 "-u, &.li |.‘
if (g11<0 gl 1>)

7:=13 ;urids ) gony f"
ack),

textbackg
write f” 5 ,or',rw:6:2,
- \ riorlrli639;
else begilt tg 7_ s wleolor(white);

5 v( ' (< .‘, ) ;end;
Shownum ( ,1 G AR\

end;

14:begin Getnun @2( &a
if (gwl<QR5)fonk( Ny
Z:= 7),& 0 vl 24,24
textbackgr¢ > )sdexd Jacl\), ¥
write(#Cluss WidEh = 0,50,", 1 :2,")?)jend
else beg -qumy,o" wck) jtex color(white);
gotoxy ( 24 aweitel 8041,60));end;
Shownum(22,18,62; st = ‘

end;

— o e e e

else b ' s Lex i at blor(white);
go y(lO 24) ;write(copy(str80,1,60));end;
Shownum(22,19,6,0,slopel);
end;

16: i 1 5 N X |
Arme R >‘§
a ) or nt( hen begi
z:=16;write(#7); otoxy(26 243

textbackground(whi Le) textoolbe ﬁ
) nendo

4 RGN

Shownum(22,20,6,0,an);
end;
17:begin, Getnum(32,21,2,0,t1,dl);
if (t1<30.00) or (t1>100.00) then begin
=17;write(#7);gotoxy(22,24);
textbackgrmmd(white) textcolor(black);

write(’Glass Transmittance = [30.00,100.00]');end

else begin textbackground(black); Lextcolor(whlte),
gotoxy(10, 24) wrlte(copy(suBO 1,60));end;
Shownum(22,21,6,0,t1);
end;
18:begin Gelnum(74,17,6 2,812, (ll),

if (gl2>rl) or (312<5 0) then begin z:=18;write(#7);gotoxy(25,24);

textbackground(white) ; textcolor(black);

")) ;end
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write(’'Glass Length = [5.00,",rw:6:2,"), or');gotoxy(25,25);
write('Glass lLength = [5.00,',r):6:2,')"):end
else begin textbackground(blackl;Lextcolor(whiLe);
gotoxy(10,24);write(copy(str80,1,60));
gotoxy(10.25);wriLe(copy(strBO,l,ﬁO));end;
Shownum(64,17,6,2,g12);
end;
19:begin Getnum(74,18,6,2,gw2,dl);
if (gw2<0.3) or (gw2>3.0) then begin
z:=19;write(#7);goloxy(24,24);
textbackground(white) ; textcolor(black);
30, 3.001");end

write(’'Glass Width = [0,
else begin textback ¥ lack) ;textcolor(white);
gotoxy(10,24) ;¢ tr80,1,60));end;
Shownum(61,18,6,2, //)
end; — . .
20:begin Getnum{.74 - e 1;

2,1’ ) ;end
Ltextcolor(white)
60)) ;end;

end;

wbre "J;end
else begi bac und(black) jte: olor(white);
: : tr80;1,60));end;

----- ,100.00] ") ;end
ofc (white);

t > ,GO yend;
64,21,6,0,087" -

end;
23:begin Getnugi(74,22,6,2, sp,d1 5/

FINERTREKA WHANT

tex'tbackgrou? (white) ; textcolor(black);
write(’Monitdtr Span = ', g6
r

AN PSBIERE S daas

if (sp<>min) and (sp<>max) then begin
z:=23;write(#7) ;goloxy(22,24);
textbackground(white) j textcolor(black )iz

' only');end
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write('Monilor Span = 'ymini6:2,' or ! ,max:6:2,’ only');end -

else begin textbackground(black) ; textcolor(white);
gotoxy(10,24);wvite(copy(strBO.l,GO));end;end;
if (mt=3) or (mt=1) then begin max:=rl/3;
if (sp>masx) or (sp<1.00) then begin i
z:=23;write(#7) ;gotoxy(22,24);
textbackground(white);textcolor(black);
write('Monitor Span = [1.00,’,max:6:2,']");end
else begin textbackground(black) s Lextecolor(white);
gotoxy(10,24);write(copy(strBO,l,GO));end;end;
- Shownum(64,22,6,2,sp) ;



end;

end;

{case z of}

case ch of
F1_Key:begin textbackground(black);textcolor(white);

end;end;

until (ch=End_Key)
if ch=ESC_Key then‘don
if ch=End_Key then be
if (locat<l) or (1

else
else
else
clse
else
else
else
else

clrscrich:=#0;gotoxy(1,1);Skym_help;
textbackground(white);Lextcolor( blacl\) s
gotoxy(1,2) ;write(’< HELP MENU >');gotoxy(3,2);
te\tbacl\ground(blacl\) textcolor (wlu te);
ch:i=readkey;if ch=#0 Lhen ch:=readkey;
c¢lrscrjgotoxy(1,1);Skym_inp;
Shownum(22,4,6,0,locat);
Sho‘mum(22,5,6,0,coi),
Shownum(22,7,6,0,workh)

hownum(22,6,6,2 lat),
m(22,8,6,0,mt)}

2,11,6,2,rw);

Slﬂl 6,2,wr);

Sho ?“ 16,2,8r);
Shownum( 22, 8,6,2,8wl);
Shownum(

Shownum( 22, am)'; ! Shown i f,0,:41)

Shownum(22,10,6,2 .
Shownum(22,12,6
Shownum(64,

18,6,2,8w2);
: ) H 6 0 Sb),
Shownum( : W L ¢ € ,SD) H

if (coi<l) or (@& >2
if (lat<b) or ( !
if (workh<85.00) or (werk 00} then z:=4
if (mt<=0) or (mt>4 Z [
if rl<4.50 the
if

L

else if "

else if (f1<0 0 - or (fr‘. =11 m

else if (gr<0.00Y or (gr>50.00) then z:=12 ’

else if (g]1<0 5) p@]brl) then %313

clse i,l'

et EEREEE N AR S
else if n)o(r int

else i 0 00) or (il>100 00) then #:=17

else lf (g 2>rl) or (g12<5.0) then z: =18 £

e@mm&mwmmaa

else if (t2<30.00) or (t2>100.00) then z:=22
else if (((mt=1) and ((sp<>rw) and (sp<>rl))) or
((mt=2) and ((sp<>(rw/2)) and (sp<>(rl/2))))) or
(((mt=3) or (mt=4)) and ((sp>(r1/3)) or (sp<1.00))) then z:=23
else done:=true;end;
end; {whllo (lnnc Olrue do bcg,ln)
ond;
( - —-- )
end. {unit DLIN}
(***************************************** ***********************************}
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unit DLCAL;

interface
uses DOS,CRT,DLVAR,DLDAT;

function Eint_cal(var dl:byte):real;

function Eext(var lat,workh:real):real;

function WindF(var rl;rw,ww,wh:real):real;

function SkyF(var rl,rw, rh,gl,gw.am slope:real):real;
procedure SkyO(var p: byte‘arat drat:real);
procedure Skyl5(var p: byt ;arat,drat:real);
procedure Sky20(var p:byt ;arat,drat:real);
procedure Sky25(var p: bytq,arat drat:real);

function SawF(var rl,rw,gw,gh:real): :
procedure SawBO(var p:bytd; aratdes
procedure Saw75(var p: byLé arat
procedure Saw90(var p: byt:"-“"~

function MonF(var rl,rw,rh,gl,¢
procedure MonSR25(var p
procedure MonSR50(va.
procedure MonDR25(var ps

al);

procedure MonRR50 (V&
procedure MonRF25(vapip:
procedure MonRF50(va:

function DirtF(var loéat,
function RavF(var cr,wr
function OvhF(var cl,h
procedure Lgx(var p,k:

implementation

{

function Eint_cal;
begin
Ee: “cht(laL,wori o =
case dl of v , )
l:begin Wi:=Wi (r" ) ywii,obs1,0bs2) ;
: Ov:=OvhF(cl,hl,angl,c2,h2,ang2); Gs:=Glas: Ll k2);
Di: —DlrtF(locat,col,slope),
Eint_cal:=Ee*¥Wi#Gs*Ob*Di*Ov;end;’

2:begin %ﬁ;ym ﬂmﬁ%}lﬁ}oﬂﬁr wwr, fr,gr);

3 begin : :=SawF(rl,rw, gw,g?) Ra:=Ravl'(cr,wr, fr,gr);
Gs:=GlassF(t1,t2);| Di: DlrtF(locatiﬂb

SEaREEITaY

Eint_ cal.-Ee*Mo*Gs*Dl*Ra end,

‘5:begin Ra: RavF(cr,wr fr,gr),

gl:=gll;gw:i=gwl;

slope:=(180/3.14)%"
arctan(gwa*gin(slope2*3 -14/180) )/ (sp-gw2*cos(slope2%3.14/180) ) ;

Dil:=DirtF(locat,coi,slope); Gsl: =GlassF(t1,t2); slopel:=slope;

Sk: 'akyF(xl,rw.xh,ll,gw,um.slope), .

gl:=gl2; gw:=gw2; slope: -slopeZ .
Di2: DlrtF(locat,cél,blopc). Gs2: -Glust(LZ t1):
Sa: SawF(rl,rw.ng*gh).

Esky.-1nt(Ee*Sk*Gsi*D11*Ra),
Esaw:=int(Ee*Sa*Gs3*Di2+*Ra) ;
Eint_cal; Esky+Esaw,end.
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6:begin Ra:=RavF(cr,wr, fr,gr);
gli=gll; gw:=gwl slope:=slopel;
Dll =DirtF(locatcoi,slope); Gsl: =GlassF(tl1,t2);
:=8kyF(rl,rw,rh,gl,gw,an, slope),

gl:=gl2; gw:=gw2; slope: =slope2;
Di2:=DirtF(locat,coi,slope); Gs2: =GlassF(t2,tl);
Mo.-MonF(rl,rw,rh,gl,gw,gh),

Esky:=int(Ee*Sk*Gs1¥Dil*Ra) ;
Emon: =int (Ee*Mo*Gs2%Di2+¥Ra) ;
Eint_cal:=Esky+Emon;end;
end;
end;

;

~ function Eext;
begin
; Eext_dat;p: -4,q =

Eext: -Lsxy(p.q.
end;

2

function WindF;

 begin A
rd:=rw/wh;pww:=
if wind<=1 the

WIndF =Lgxy(p,q,rd, pww) /400
end; . ,

o

function SkyF;
begin

if dl=1 then dr el !
pi=bjarat:=(gl*gw¥am)/(rl*rw);
aratl:=arat;dratl: drat'~

if drat>17. 00 the =17.00;
xl1):=

if slo

else F‘%Rﬂ%ﬁj Say (p,ara: Qky :=adf2;end

else if“slope=20.00 then

' else p slope—25 00 th
y2

x[l]'=0.a[1 1] =adfl;
x[2]:=15;a[2,1] :=adf2;
x[3]1:=20;a[3,1]:=adf3;
x[4].-25 al4,1]:=adf4;

Lgx(p,k,slope); Sky =xsum[k] ;
end;
‘end; ; 5

cL

g1n SkyZO(p arat drat) SkyF:=adf3;end

procedure Sky0;
begin
k:=1;
a[l,1]:=arat*14/0.32;a[2, 1] =arat*18/0.36; :
a[3,1):=arat*18/0. 28,3[4 1] :=arat*18/0. 24,5[5,1]:=arat*18/0.216;
i \ ’

i
H
i
i
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“Lgx(p,k,drat) ;adf1:=xsum(k]/100;

. end;

{ e i

- procedure Skylb;
begin
k:=2; | oy
al1,2):=arat*14/0.35; a[2,2]:=aralt*18/0,39,
a[3,2):=arat¥18/0.30; a[4,2]:=arat*18/0. 257 al5,2]: —arat*18/0 23;
Lgx(p,k,drat); ade.—xsum[k]/lOO
end;

{

procedure Sky20;
begin
k:=3; -
af[l1,3]):=arat*14/0.38
a[3,3]:=arat*18/0
Lgx(p,k,drat) ;e
end; ‘

(

a[5,3] :=arat¥18/0.255;

procedure Sky25;
begin
k:=4;

al3,4]:=arat+18/0.386 ; dl 4,4] =arati8/0. 5,4];=arat*18/0.28;

Lgx(p,k drat) ;adf4
end; .

{

function SawF;
begin .
p:=5;arat:=gw
arat2:=arat;c¢
if drat>13.00 C
x[1]:=1.00; x[2“1 8 =10.00;x[5]:=13.00;
if slope=60 th~' beg1n Sawb0(p,arat,drat) ;Sawll;=adfl;end
else if slope-75 00 then begin Saw75(p,arat drat) ;SawF:=adf2;end
else if slope=80¢Q0 then begin 8aw90(p,arat,drat);SawF:=adf3;end

clse uﬁrﬁ ﬂtﬁgﬂww m) w90(p,arat drat) ; .'

=75;a[2, 1].-adf2
x[3]:=90;a[

aa&ﬁmﬁ‘ﬁmmﬂmwmaﬂ

v e T S ¥ o e e

procedure Saw60;. ’
begin .
k:=1; i
al[1,1]:=arat*7/0.305;a[2,1] :=arat¥10/0.31;
a[3,1]:=arat*10/0.236;a[4,1] :=arat*10/0.21;a[5,1] :=arat*10/0.185;
Lgx(p,k,drat) jadfl:=xsum{k]/100;
end; :

{
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procedure Saw75;
begin
U ki=2; !
a[l,2]:=arat*5/0.283; a([2,2]:=arat*8/0.323;
a[3,2]:=arat*10/0.32; a[4,2]:=arat¥10/0. 265 a[5,2] :=arat*10/0.243;
Lgx(p,k,drat); adfz'-xsum[k]/loo'
end;

{

procedure Saw90;
begin
k:=3;
a[1,3]:=arat*4/0.3}a[2,
a[3,3):=arat*7/0. 295
Lgx(p,k,drat) ;adf3:=x

end;

(

function MonF;
bLegin

p:=b;arat:=gw/sp;
arat2:=arat;drat2:=
if drat>13.00 the
x[1}:=1.00;x[2]):=
if mt=1 then begin
if sb=25.00 the
else if sb=50 then
else begin M
p:=2;k:=1;
x[l] —25 00‘

:=adfl;end
;MonF:=adf2;end
,arat,drat);

if sb—25 00 é
else if sb=50

00.a[2 1].-adf2'

LSX(P nF:=xsum[k] ; end
else 1f mt . W'
AR A WP o
else 1f sb= f2;end

elsé begin MonRR25 p,arat drat); MonRRSO(p,arat drat).
p:=2;ki=1;

AR V8 8

else §f mt=4 then begin |
if sb=25.00 then begin MonRF25(p,arat,drat);MonF:=adfl;end ,
else if sb=50 then begin MonRF50(p,arat drat) MonF:=adf2; end
else begin MonRFZG(p.arat drat) ; MonRPSO(p,arat drat),
pi=2ik:=1;
x[l] =25.00;a[1] 1].-adf1'
x[2]:=50,00;a[2,1]:=adf2;

4 LSX(P, ysb); MOnF.—xsum[k],end end; :
end;

(===

R S = P —



procedure MonSR25;

begin
k:=1;
al[l,1]:=arat*3/0.205;a(2,1]:=arat*5/0. 249;
a[3,1]:=arat*6/0.235;a[4,1]:=arat*7/0. 227.&[5 1]:=arat*8/0.23;
Lgx(p,k,drat) ;adfl: -xsum[k]/IOO

end;

{

procedure MonSRH0;

lu"*gin ]
k:=2;
all,2] :=arat*2/0.175; a[& 2% —araL
al[3,2] :=aral*5/0. 250' al4,2] ¢
Lgx(p,k,dral) ;adf2: -xsum[k_ C

end;

{_.._.__

*2 Qs 127
: 20 u[o 2] :=arat*4/0.150;

procedure MonDR25;
begin
Ry=1;
a[l,1]:=arat*1/0.

a[3,1]:=arat+8/0.248 48] at#8/0,076; a[5,1]:=arat+9/0.208;

Lgx(p,k,drat) ;adf
end;

{

procedure MonDR50;
begin

. ki=2; !

a[1,2]:=arat*3/0.208; a[

- a[3,2]:=arat*6/0.235; a

Lgx(p,k, dxat) ude':xs

end;

{

procedure MonRR25; |
begin .
3 kn=1|
all,1]:=arat*5/0, ZE, al2, *6/0. ﬁ
a[3,1]:=arat*6/0.172; al4, 1]'=arat*9/0 218 a[b,1]:=arat*9/0.190;
Lgx(p,k drat) adfl.-]& 'k1/100;

. ‘LlEl’l NENININT

procedure Pkuﬂﬂl 04

"fg:?amﬁ\‘mmuuinwmaa

=arat*6/0.222; a[4,2]:=arat*8/0.250; a[b5,2] :=arat*9/0.248;
Lgx(p,k,drat) ; adf2'=xsum[k]/100' 3
end;

|
( .

|
procedure MonRF25;
begin
k:i=1;
all, 1] -arat*5/0 250; a[Z 1}z -arat*7/0 250;
a[3,1]:=arat*7/0. 200' a[4 1] :=arat*2/0. 048‘ a[5,1] :zarat¥7/0.150;
Lgx(p,k,drat) ;adf1: xsum[k]/lOO q '
end; -

(..
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procedure MonRF50; ! :
begin !
kv=2; ; '
all,2]:=arat*4/0.222; al[2;2]:=arat*5/0.200;
a[3,2]:=arat+8/0.250; a[4,2]:=arat*9/0.235; a[5,2]):=arat*9/0.212;
Lgx(p,k,drat) ;adf2:=xsum[k]/100;

end;

{ , N
function GlassF;
var gfl,gf2:real;
begin
pieTiqi=lik:sl;
lf ((t1<85 00) or (t2<85.00)) then Glass dat. ‘
if t1>=85.00 then gfl1:=1.0 else beiln ‘Lgx(p,k,tl);gf1:=xsum[k] ;end;

if (dl=1) and (wind>=2) then
//x(p,k ,£2) ;gf2:=xsum(k] ;end;

if t2>=85.00 then gf2:=

GlassF:=(gf1+gf2)/2;e

else GlassF:=gfl;
end;

{

function ObsF;

var ob:arim,ribyte;

begin

rd:=rw/wh; 7

if wind<=1 then begi
if obs1<=0.00 t

end

- else if wind>=2 th
if (obs1<=0.00)
else begin Obs2_

for m:=1 to r do

for i: -1

pi=r;k:=1;
for i:=1 to
for i:=l to"Wdo ali, k].-ob[i].
Lsx(p. yrd) OWF"xsum{k] ;

ﬂumwﬂmwmm

az:z*ﬂﬂ’]&ﬂﬂ‘jm ANTINEINY

=3;Dirt_dat;
for i:=1 to p do begin
for j:=1 to q do begin
for k:=1 to r do begin
1f (locat=i) and (coi=j) then begin

St (slope>-60) then DirtF:=b[i,j,1];
if (slope>=30) and (slope<=60) then DirtF:=bli,j,2];
if (slope<=30) then DirtF:=b[i,j,3];end;

.

end;
lendyin.
end; : !
end; ;

{
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function RavF; i
begin !
af:=rl¥rw; i
case dl of ; i
l:begin ga:=gl¥gw;. ac,-af, aw:=(2¥%(rl+rw)*rh)-ga;
rav:=((ac*cr)+(awkwr)+(af*fr)+(ga*gr))/(actawtaf+ga) ;end;
2:begin ga:=glkgw¥am; aw:=2%(rl+rw)*rh;
ac:=(af/cos(slope¥3.14/180))-ga; _
rav:=((ac*cr)+(aw¥wr)+(alf*fr)+(ga®*gr))/(actawtaf+ga) ;end;
3:begin aw:=2%(rl+rw)*rh;
if gl>rw then begin ga:=glikgw¥(rw/sp) ;
ac: -rl*(rw/sp)*sq_ (s¢ sin(slope*3.14/180) )+
L (slope*3 14/180)));

end
else begin ga:=gl¥kgn
ac:=rwk(rl/Sp)*sart(sqz *3.14/180) )+
‘ ope*3.14/180)));

end; .....ll"""’ml-r | -

rav:=((ac*cr) VEie (actawtaf+ga) ;end;
4:begin aw:=2%(xg AR,

else beg

rav awtaf+ga) ;end
5:begin

§e2*3.14/180))+

kgr))/(actawtaf+ga) ;end;
G:begln e

v s . » ;
rav'-((a-'r)+(aw*wr)+(af*fr)+(ga*gr))/?§a+aw+af+ga);end;
end;

AT e inens

*gin(
cos(slope2*3.14/180)))-gasky;end;

l

mﬁ’ﬁﬁaaﬂﬂ UUNINYIAY

angl<=0 then ovhl:=sqrt(1+(cl/hl)*(cl/hl))-(cl/hl)
se ovhl:=sqrt(1-2%(cll/hl)*sin(Pi*ang1/180)+(c1/hl)*(cl/hl))
-(c1/hl)*cos(Pi*angl1/180) ;end i
else ovhl:=1; |
if h2>0 then begin i
if ang2<=0 then ovh2.-gqrt(1+(c2/h2)*(c2/h2)) (cZ/hZ)
else ovh2:=sqrt(1- 2*(q2/h2)*sin(Pl*an32/180)+(c2/h2)*(02/h2))
-(cZ/hZ)*coa(Pl*angZIIBO)
else ovh2:=1; : . s
if wind<=1 then OvhF:=ov| 1
else OvhF:=(ovhl+ovh2)/2;
end;

{

=

|
i
l
|
!
I
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procedure Lgx;
begin
code:=0;xsum[k] :=0;

for 1.-1 to p do 1f xx-x[1] Lhen begin xsum[k]:=a[i,k];code:=1;end;

if code<>1 then begin |
W fer 139l to. p do begin xmul[i k]l:=1;end;
for i:=1 to p do begin xmul[i, k]:=ali,k];
for j:=1 to p do beg1n i

end;

xsum(k] : xsum[k1+mh
end; "

end;
end;

if i<>j then begln xmul(i, k].-xmu1[1 kl*(xx-x[j1)/(x[i]-x[j]) ;end;

{

function Lgxy;

var fn:real;

begin
code:=0;

if code<>1 then b .
for k:=1 to q dg be
for j:=1 to q

for i:=1'to q
ymul[j]:=(

end;
ysum[kl :=ysum[

if v2=y[k] the | sy : =xsum(k] ;end;

ymul[k] =1;end;

end;
Lgxy:=ysum[q];
end; H "
end;
( ................
end.

{********‘k***‘k*******?**********-F*****U************************************ }

ﬂummﬂmwmm
QW'IR\‘Iﬂ‘i.ﬁUNW]’WIEJ’IﬁEI
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unit DLOUT;

interface
usces DOS,CRT, DLVAR,DLCAL;

procedure VWoulput

procedure SKYoutput;
procedure SAWoutpul;
procedure MONoutput;
procedure SKYSAWout;
procedure SKYMONout ;

‘implementation

{_-

procedure VWoutput;
var
Eev:real;
const
s1=0.0;
begin : .
z:=1;done:=lalse;
if (wind=1) and ((obs!
goloxy(1,25) ;writ
textbackground(white
gotoxy(19,25) jwrite
textbackground(bla
teatbackglound(white) te:

if wws=! ?' then be
]

ch:=readkey;if ch=#
case c¢h of
F1_Key:begin clxscr'gutoay(l 1).
for i:=1

140

f BV:i8:2. % Taxl):

w:6:2);end;
L Eint:8:2,°!

Rt )

ﬁﬁ%ﬁﬁﬁ%ﬁ%ﬂ TTICAL WINDOW' ) ;

1te1n(' Latitude
writeln(' %Working ﬂ%ur

AR AL S

yeds

oluts62)
rkh:6:2,

m’ rlalﬁ.m meeln.

12

writeln(' % Window Width : ,pww 02,

A Room Factor ¢ ", Wii6:4);writeln;
writeln(’ Transmittancel(%) : ',t1:6:2); ; :
writeln(? Transmittance2(%) : ',t2:6:2,

: -> Glass Factor : ' ,Gs:6:2) ;writeln;
writeln(’ Obstruction Anglel : ’,obsl1:6:2);

wliteln(’ Obstruction Angle2 : ',obs2:

T => Obstxuction Factor

writeln(’

: A o

wr1te1n(' Location
writeln(’ Class

: wr1teln(’ Slope

Overhang Factor

' ,locat:6:0);
',c0i:6:0);
',slope:6:2,

6:2,
v Obttid ),
)

.
.

LiOviB:d);
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! -> Dirt Faclor : NDi6:2) writeln;

writeln(’ lorizontal Illumination = ',Eint:8:2);
gotoxy(1,23);for i:=1 to 79 do write('-");writeln;
gotoxy(1,24);write(’<Home>Input Menu’);
gotoxy(71,24);writeln(’'<ESC>Exit’);
if (wind=1) and ((obs1=0) and (c1=0)) then begin
gotoxy(1,256) ;write(’<F2>Vertical llelp');end;
end;
F2 Key:begin if (wind=1) and ((obsl=0) and (c1=0)) then begin
clrscr;gotoxy(1,1) ;Eev:=Ee/2.5;
for i:=1 to 79 do write('=");writeln;
gotoxy(ZZ.Z);writelp(’i ING DESIGN : VERTICAL WINDOW’);
for i:i=1 to 79 do._wkile! i g

V/‘ teln;
| _‘/‘/-;’ ', 1at:6:2);
" Idworkh:ﬁzz,

writeln(’ Latifude
. writeln(’ % ;
3

",Eev:6:0);writeln;
rat:6:2); ;
writeln(’ celn )
writeln(’ ¢ 2,
',Sk:6:4);writeln;
12Y
18,

$ 'éGs;G:Z);wriLeln;
at:6:0);
writeln s . = £ ; 3 :
writeln @ : . el R slope:6:2,
; i ‘ ',Di:6:2);writeln;
’ ,’,’,fr:2:0,’,',gr:Z:O.‘)’);
ravi6:2,
- : ’,Ra:6:2);writeln;
ertical Tllumination = ',Ev:8:2);
ite('-’);writeln;
fenu?’) ;

writeln(
writeln(’
)
writeln(’ y .
gotoxy(1,23) jforiis=
gotoxy(1,24) jwritéts
gotoxy(71,24);q£i'
gotoxy(l,2
end;end; |
Home_Key:begin d
" ESC_Key:begin dongh=t
end;
end;
ch:=#0j
end;

AR HYART

procedure SKYoutpul
begin

AERRRSAIAI) 110

gotoxy(25l24);writeln(’Internal Illumination = ’,Eint:8:2,' lux');
textbackground(black);textcolor(white);'
gotoxy(64,24) ;write( ' <Home> Input Menu’) ;
gotoxy(71,25);write(’<ESC>Exit');
while done<>true do begin
ch:=readkey;if ch=#0 then ch:=readkey;
case ch of 7 ;
,Fl_Key:begin;clrscr;gotoxy(1,1); :
for ii=1 to 79 do write(’=');writeln;
‘gotoxY(24,2);writeln(’DAYLIGHTING DESIGN : SKYLIGHT’);
» for ii=1 to 79 do write('=’);writeln;

writeln(’' Latitude = 4 ’,latEG:Z);
writeln(' %Working Hour : ’.workh:§:2,
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0

1 -> External Illumination ¢ ',Ee:6:0);writeln;
writeln(' Glass Area / Floor Area : ‘yarat:6:3);
mi&hﬂ’&uMungMh/lhwm : ',drat:6:3);

writeln(’ Slope v ",8lope:6:2,
-> Average Daylighl Factor : ',Sk:6:4);wrileln;

writeln(' Transmittancel(%) " 'itli6:2)
writeln(' Transmittance2(%) Y6262,

’ -> Glass Factor : ',Gs:6:2);writeln;
writeln(’ Location v, locat:16:0) ;
writeln(’ Class £ Coi6:0):
writeln(’ Slope ¢ ',slope:6:2,

: ',Di:6:2);writeln;
erair 20, Y P 260, v EET2i0, 1 1
Yaravi6i2, ,
‘ ',Ra:6:2);wrileln;
rnal Illumination = ',Eint:8:2);
'-7);writeln;

; -> Dirt F tor
writeln(’ Refleclance F 5

writeln(' % Refle
' =

writeln(’
gotoxy(1,23
gotoxy(1,
gotoxy(71
Home_Key:begin done:=tr
ESC_Key:begin done:
end; )
end;
ch:=#0;

end;

{_.,__,_..__...

procedure SAWoutput;
begin ;
z:=1;done:=false;
goLoxy(ZO 24) ; textbackground(whi
wrlteln( Internal Illumln o,

cése ch of

gotoxy(23,2) jwriteln( 'DAYLIGHTING DESI(m: SAWTOOTH ROOF');
for 1:=] "¢tn 79 do write('='); wr1te]n,

writeln(' Latitude

IR Ry

eln(’ Glass, Len%fh / Height . ,drat 6: 3)
wviteln( Slope

q Pkl ggmmwwﬂ"iﬁﬂm

ittance2(%)

‘=> Glass Factor

325kl 6 2).w11Le1n.
writeln(’ Log¢ation ' ,1ocat 6.
writeln(’ Class 1ol 6iB o)y
writeln('’ Slope ¢ ',slope:6:2,

! i=> Dirt Factor $ .,Di 2).writelu,
writeln(’ Reflectance(',cr:2:0,',’,wr: 2 0y %4 Lydp 250 2y 9 Ay
wxlteln(' % Reflectance : ',rav:6: 2.

=> Average Reflecltance = ' Ra:6:2); iwriteln;
writeln(‘ Internal Illumination = ',EinL:8:2);

gotoxy(1,23);for ii=1 to 79 do write(’-'); writeln;
gotoxy(1, 24),wr1te( <Home>Input Menu’) ;
gotoxy(?l 24) ;writeln('<ESC>Exit’);end;
Home_Key:begin done:=truejend;
ESC_Key:begin done:=truejexit;end;
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*end;
end;
ch:=40;

end;

( ' e )

procedure MONoulput;
var
mr:string([2];
begin
z:=1;done:=false;
gotoxy(ZO 24); Lextbackgrol
writeln(’Internal Illumigo
textbackground(black);“~ﬁx
gotoxy(64,24) ;write(
gotoxy(71, 25),wr1te
if mt=1 then mr:="S
else if mt-2 Lhe

extcolor(black);
g2 1axl)y

case ch of
Fl_Key:begin ¢

: MONITOR ROOF');

'vlakiBi2) s
' workh:6:2,

' Ee:6:0);writeln;
',arat:6:3);
! drati612);
, '% Sunbreak ¥, ebi6:0;
wDaylight Factor : ',Mo:6:4);writeln;

RN e B

! ',t2:6 &y

v B 6 2);writeln;

,locat 6:0);

! coli6:0);
i slope 6:2, ,

> g § : ',Di:6:2) jwriteln;

Reflectance(’,cr 22 0, T 0. sl B 20 X i s 0 by T
w11 % Reflectande/) 1 raviGig:

‘ yRa:6:2) jwriteln;
ﬂ 1‘&&% :ﬂ ﬂ Wjﬂﬂqﬁinmmm = ',Eint:8:2);
wr ywriteln;

gotoxy(1,24);w te( <Home>Input Menu’);
iteln

?éﬁﬁ%ﬁi@dmfmmaa

wrlteln(’

en 3

ch:=#0;
end; ;
{ }
procedure bKYSAWout'
- begin ' )
zZisl; done.-false. :
gotoxy(l 24);write(’<F1>Sky Help'); ‘ :
textbackground(white) ; textcolor(black);
gotoxy(l5,24);write(’Ehi (Sky) = ’,Esky:5:0, lux, 1y

gotoxy(40,24) ;write('Ehi (Saw) = ’,Esaw:5: 0,’ lux’ ),
gotoxy(15,25) jwrite('Average Illumination = ';Eint:56:0," Tux )y




l4g

tc.\'tbncl(ground(bla\ck) itexteolor(white);

gotoxy(1,25) ;write(’<F2>Saw Help');

gotoxy(63, 21) wrile(’ <Ilomc->lnpul Menu’ )

gotoxy(71,25) jwrite(’<ESCOExit’);

while done<>true do begin

ch:=readKey;if ch=#0 then ch:=readkey;

case ch of :

I"1_Key:begin clrscr;gotoxy(1,1);

for i:=1 to 79 do write('=');writeln;
gotoxy(24,2) jwriteln(’DAYLIGHTING DESTGN : SKYLIGHT'):
for i:=1 to 79 do write(’'=");wrilcln;

writeln(' Latitude 2ot latiiBi2)g
writeln(’ %Working Hour : ,woxkh 612,
! -> External T1 huini \stlon ' iRes6:0) WIIL(‘JH,
writeln(’ Glass Area / Floor A aratl B3y
writeln(’ Building Len atl:6:3);
writeln(’ Slope )91 6:2;
e b’ Sk:6:4); wute]n,

writeln(’ Transmit.t:
7 : Gsl 6 2) ;wr lto]n,

writeln(' Loc
writeln(’
writeln('’
)

writeln(’
writeln(’

gotoxy(15,21);wri +Esky:5:0," Tux*);
gotoxy(15,24);w sEsaw:5:0,°’ sy
gotoxy(15,25) JRBint B0, T e
textbackground(blag

gotoxy(1,24) ;write(’

‘gotoxy(64,24) ;write
gotoxy(71,25);write
- F2_Key:begin clrscx,goLO\y(l 1)
for i:=1 to7‘)dowz:
gotoxy(23,2);wi

n ] GHTIN ITOOTH ROOI' ) ;
for i:=1 to 8 e 4 __ .
writeln(’ g = g e )
writeln(’ %Wor " Ot

1
wic ! ' u_" :6:0) juriteln;

writeln(’ Glass I Width / Span ',matZ
writeln(’ Glass. éth / Height ,. ', drat2:6: 3),

S AHR R

lass Factor~ 188l 1gy 2),w11t<=ln,
wrlteln(' ocnhou g ,1 at:6:0);

wwﬂamumza%mm

wriiteln(’ Reflectance(’,cr:2:0,’ Wt 210" o Fr22:0;", " gpi2: 0 Lok b
wrlteln(’ % Reflectance t oG 6 2,

~> Average Reflectance 2 ReiGe2)d
goloxy(1,23);for i:=1 to 79 do write('-');
textbackground(whit e) textcolor(black) ;

gotoxy(15,21) ;write(’ E.‘m (Sawtooth Roof) s ' Esaw:5:0," Yt
gotoxy(15,24) ;write(’Ehi (Skylight) = ' Esky:5:0,' Tuex )
gotoxy(15,25) ;write('Average Illumination - Einkehel, 7 Tesct )

textba(,kground( black) ; textcolor(white):

gotoxy(1,24) ;write(’ <F1>Sky Help');

gotoxy(64 24) write(’<Home>Input Menu’);
gotoxy(71,25) ;write(’<ESC>Exit’);end;



" Home_Key:begin done:=Lrueiend;
ESC_Key:begin done: -txue,exlt end;
end;
ctui’
ch: #0'
end;

{ e e e e PR Sl B i et

procedure SKYMONout;
var
mr:string[2];

begin
z:=1;done:=false;
gotoxy(1,24);write(’<F1>Sky Help’);
textbackground(white) ; textcolor(black)
gotoxy(15,24) jwrite(’Ehi (Sky) = ', Isk
gotoxy(40,24);write(’ﬁhi (Mon) =.°
gotoxy(ls 25),write( Average 1

gotoxy(l 25) write( <F2>Mon Hel
goloxy (64, 21),write( <Home> I

if mt 1 then mr ’SR’
else if mt=2 then mr: ’DR’
else if mt=3 then mr:="RR'
else if mt=4 then mr:=’'RF’;
while done<>true do begin
ch:=readkey;if ch=#0 then
case ch of
Fl1_Key:begin clrscr;goloxyll
for i:=1 to 79 do . reelng
gotoxy(24 2) writ Aﬁd G DESIGN. : SKYLIGHT');

writeln(’
writeln(’
. ,

writeln(’
writeln(’
writeln(’

1

writeln(’

' writeln(’ L
writeln(’ Claqs

: .1oc§z:B0) ;

',c0i:6:0);

i e ST R e

wmtelnw % Reflectance : ',rav:6
->  Average Réflectance

PN TN,

toxy(15,24) ;write(’Ehi (Monitor Roof) ! ,Bmon:5:0,’

gotoxy(15,25) jwrite(’Average Illumination & ' Bint: 510[

textbackground(black) ; textcolor(white);

gotoxy(1,24) jwrite(’<I2>Mon Help');

gotoky(64,24) ;write(’<Home>Input Menu’);

gotoxy(71,25) ;write(’<ESC>Exit’);end;
F2_Key:begin clrscrjgotoxy(1,1);

for 1:=1 to 79 do write('=');writeln;

gotoxy(23,2) ;writeln(’DAYLIGHTING DESIGN : MONITOR ROOF');

for i:=1 to 79 do write(’=’);writeln;

writeln(’ Latitude 1.1 ,184:842)

writeln(’ %Working Hour H ’.woryhza 2,

ix' )

s1:6:2) ;writeln;
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2 3 g Fxternal T1lumination 6:0);writeln;
writeln(’ Glass Width / Monitor Span ! ,suaL 6:3):
writeln(’ Bld. Length / Glass Height : ,dlatZ 6:2);

writeln(’ ’,mr,’ Monitor, ',’'%-Sunbreak : Yogb: 6
! -> Average Daylighl Factor : ',Mo:6:4);writeln;
: writeln(' Transmittance2(%) U b2 2y

! -> Glass Factor : ',G82:6:2) ;writeln;
writeln(’ Location : ',locat:G:O);
writeln(’ Class oL 2 a0l t810);
writeln(' Slope ! ,slopez 6:2,

! -> Dirt Factor ¢ ',Di2:6: 2) wxiteln,
writeln(’ Refleclance(',cr:2:0,',’,wr:2: 0, v EEERI0G ! gt a0, ) )
writeln(’' % Reflectance 1Y yrdaveB:2, :

! —>  Average Rellectance . : ’',Ra:6:2);
gotoxy(1,23);for i:=1 to 79 rite('-');

textbackground(whlte).‘~

= 'y Bnon:5:0,° T
= ' Eeky:5:0,' Lux
= ' yEint:5:0," Tux
gotoxy(l,Zd);wril.
gotoxy(64,24);
gotoxy(71,25) ;wri
Home_Key:begin done:=t
ESC_Key:begin done:=true;e
end;
end;
ch:=#0; !
end; 5 ; ,
( i d . ‘ _______ o e e ‘
énd. {unit DLOUT) : :
{:!f***=I=************************tl:"2 Slaglclok ok e ‘ skeokeks **I******:k****:k'-kik***:k}

,uJ

ﬂ‘iJEl’WIEWIiWEI’]ﬂ‘i
QW’WMﬂ‘imﬁJﬁﬂﬂmﬂﬂ



unit DLVAR;

interface

uses DOS,CRT;

consl '
str80="’
Del_Arrow Key = #8; Reluun Key = #13;  FSC Key = #1274
Point_Key = #46; NoO Key = #48;  Nol_Key = #49;
No2_Key = #50; Nol Key = #51; Nod_Key = #0562,
No5_Key = #53; No6_Key = #54;  NoT7.Key = #55;
No8_Key = #56; No9_Key =
Fl_Key = $#59; ~ = #61;
F4_Key’ = #62; = #64;
F7_Key = $65; = #67;
F10_Key = #68;
lome_Key = #71; = #73;
Lell_Key = §75; = §#79;
NDown_Key = #80; #82;

- type
sfile=string[15];
ar=array[1..20] of rea

. dar=array[1..20,1..2

var

{:lext;
fmenu, fdata:sfile;
ch:char; F
z,dl,p,q,r,i,j,k,code:byt
num,wind, locat,coi, lat,w
ww,wh,t1,slope,obsl,cl,hl,a
t2,0bs2,c2,h2,ang2:real;
ac,aw,af,cr,wr, fr,gr,rav:real ;
ga,gl,gw,gh,sp,mt,am,sb min,ms
ovhl,ovh2,rd,pww,Eint:real; = =" &
Ee,Wi,Sk,Sa,Mo,Gs,0b,T
arat,drat,grat,adfljaaf?

' gll,glz,gwl gw2,slop
aratl,arat2,dratl,drats
Esky,Esaw, Em°n,E1e re.J
nums , wws , ams ¢ strlng,
a,xmul :dar;
X, ¥, XY, Xsum, ysum

sortlooiians” 1 Vl El NINYINT

b:array[1..6,1. ..1 of real;

S WIAIRTN NN INENa Y

{ shekekekesks k*‘k‘k**i‘k** k*********‘k*‘k‘l‘ k****‘k*********f tekckokokkekek ‘k‘k*‘k‘k**‘k‘t***'&** kkkokokokolkok )
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unit IODATA;

interface
uses DOS,CRT,DLVAR;

procedure Getnum(x,y,n,r:byte;var num:real ;dl:byte);
procedure Shownum(x,y,n,r:bylLe;var num:real):
procedure Showmenu( fmenu:sfile;s,n:byte);

implementation

procedure Getnum;
var
done:boolean;
numr:real ;
pibyte;
code: integer;
begin
done:=falseipi=1;nump: =t
textbackground(white);
repeal.
goloxy(x-1+p,y);ch:=
case ch of
#0: beg;m,ch::readke
case ch of

ite(copy(str80,1,n));

Ins_Key:begin (AT 5iid then wws:=’ 2
‘ i then ams:=' P

yend;

) done: = .m‘.‘.._‘h )
Left_Key: begln s ifpg yi=1;end; :
P L

o
if72>14 then z:=1;end;

gin if 2>19 then z:=1;end;end;
begm i[’ z>16 then zi=ljend;

in 1f 2>17 thw =];end;

M%ﬂﬂﬂﬂ‘a‘

e'l qe; begin end'

RN IAMANdY

done:=true;z:=z-1
case dl of ‘
L:begin if wind=1 then begm 1T wel Lhcn zi=14;0nd; : i
if wind=2 then begin if z<1 then z: -19 send; ; !
end; e
2:begin if 2z<1 then 2z:=16;end;
J:begin if %<1 then z:=17;end;.
4:begin if z<1 then z:=18;end;
5:begin if z<1 then z:=21;end;
6:begin if z<1 then z:=23;end; ; : ‘ ,
else begin end; ‘
end;



end;
end; {case ch of}
end; {#0:begin ch:=readkey)
Return_Key:
- begin done:=true;z:=7+1;
case dl of

1:begin if wind=1 then begin if z>14 then z:
if wind=2 then begin if #>19 then z:

2:begin if z>16 then z:=1;end;
J:begin if z>17 then z:=1:end;
4:begin if z>18 then z:=1;end;
S5:begin 1f ©>21 ‘then z:i=1end;
6:begin if z>23 then zi=1;end;
else begin ond;
end;
end;
[ESC_Key:done:=true;
Del Arrow Key:begin p:=p-
de 1 ot
No0_key. .No9 Koy, Poin ey
delete(nums,p,1) ;i
else bagin write(#7);cnd;
end; {case ch of
goto_\‘y( x,¥) jwrile(nums Ty
until done or (p>n);
textbackground(black) ; tex
if p>1 then begm Nums : =copy

=) jend;

=1send;

=1;end;end;

opy(str8o, 1 n))

end;
(SRR SRS e, Y T T T SRR )
procedure Shownum;
begin 3 ;
str(num:n:r,nums) ; golowy(\,s .
end;
e e e e e }
procedure Sho‘:tménu;
var ! N
sho'w:sf;ring['v’gl . Ly
begin =
assign(f, fmenu) jreset(f); : ]
for i:=1 to n do begi St :
: readln(f,show); gotoxy(i,wherey) wnteln(copy(show 1 80-3)).
' end;
o close(f), T
end; 2
i ‘ - ‘
e "W'T’M"’ ‘iﬂJllW INE° ﬂ EJ-'
(FRkkkRkkkk kiR kokok ook kol b A A S A RO kekkok kb ko

::m:k’*aé-
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unit DLA_MNU;
interface
uses DOS,CRT,DLVAR;

procedure VW_ass;

procedure Sky_ass;.
procedure Saw_ass;
procedure Mon_ass;
procedure Skys_ass;
procedure Skym_ass;

implementation
{
procedure VW_ass;
begin clrscr; : . } ’ ’ ‘
wri teln(  zszmzoocooommossmeass = 2 : . - ==as Eszsehs H
writeln(’ HT
writeln( ’___~__==___—_,____-_--__;. 1= S=STEszmssszooosszsSsssssssoszds
wrlteln(' -

writeln(’ASSUMPTION :-
writeln(’
writeln(’
writeln(’
writeln('
writeln(’
writeln('’
writeln('
writeln(’

. Reference on 2
. The window head i
. 8ill height is

fo
st
e
=]
(13
b
o
i
by

Ratio of window
writeln(’ . Interior reflects
writeln(’ . Reference line'ie
writeln(’ (For vertical windg ;
writeln(’ 10. Reference liné is'a T, ceriter pardllel to the window and 0.9 m. above
writeln(: the floor (For vertic . ' pposite wall).
writeln( )
writeln(’
writeln(’
writeln(’
wrlteln(’ -
writeln(' <Any Key)Contlnue
end;

{

procedure Sky_ass;
begin clrscr;

writeln(’=====z===z=== T

writeln(’ q’ j DAYLIGHTIgG DESIGN : SKYLIGHT ' i : A

x:::z:z'mawaqnimmmE"Tﬁ"z“’ ““““““““““ |

writeln('

writeinl® - 1. ference on the Publication CIE No. 16 (E-3. 2) 1970.
writeln(’

O®PID DS W N
g
g o
o
&
=
-
v

‘ )
- Floor 15%).
11 and 0.9 m. above the floor

<ESC>Exit

1
)
;
3
'
)
1
’
"
)
]
’
o
)
)
1
,Q
)
7y .
)
"
’
)
’
)
1
1
:
’
'
)
)
¥
1
B
1
y
'
!
1
'
1
)
H
ey
’
1
’

)
);
1}
)
)
)i
)
)
)
)3
);
)i
)i
)i
)i
)
14
)i
¥:
)i
)i
)i

?
)
writeln(’ 2. The illumination obtained with average value over the whole of the !
writeln(: working plane assumed to be 90 cm. above the floor. :
writeln( g o0 ' y
writeln(' 3. A uniformity r?tio of 2:1 can be achieved when the distance between !
writeln(' center of two individual skylights is not more than twice of the heiﬂht X
writeln(: of the skylights above the horizontal workins plane. :
writeln( :
writeln(’ 4. The correction factors for dirt accumulation assume cleaning at about !
writeln(’ sixmounthly 1ntervals. :
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writeln(’ )
writeln(’ 5. The maximum pitch of roof : 25 Degree. ; !
writeln(’ : !
writeln(’ :
writeln( X ‘ : :
wr 1 loln( ¥ s b e b e e S i e R >

procedure Saw ass;
begin clrscr;

writeln( ’=:::::::::::::::::::::::::: ___________ I EES=oIoooomommmme? ) $
writeln(’ DAYLIGH'I‘ING DFSIGN : SAwmom ROOF : 2
writeln( ’:::::::::::::::::::-.;.-..:::: _________ mo=mmms e L T T ) :
writeln(’ i f g
writeln('ASSUMPTION :- | G / S 2.
writeln(' i e i
writeln('’ } h =53
writeln(’ 1. Reference on the Pu i i No o o 2) 1970, : L1
writeln(’ 2. The illuminaticon oBEA" ied_ivi th ;. ue over the whole of the L35 L
writeln(’ working plane ds 290 o 5 oor . i
‘writeln(' 3. A uniformity 011' ligh o : s 1)
writeln(’ In the case of 've gl : » . an of trusses to helght i
writeln(’ of the lower. ed giol he iglass above t rizontal working plane e B
-~ writeln(’ should not ex : ‘ T
writeln(’ In the case of ‘66 5 4d¢ j t e ratio of span of » 8 0
writeln(’ trusses to heig 1lass above the horizontal b3
writeln(’ working plane | . ) by
writeln(’ 4. The correction factg '  “adcumiu ‘assume cleaning at about by
writeln(’ sixmounthly intervdls j Mo ' ' 1
writeln(' 5. The slope of glas& isf I o) g 2e from horizontal plane. 14
writeln(’ 7 . § "
writeln(’ j 1
writeln(’ —————— ——= 8
writeln(’ <Any Key>Cont1nue kN : <ESC>Exit’');
end; —
s - = e oo ” TR )
procedure Mon_: v iy i S ; d ¥ : E
begin clrsca : e e — Y :
writeln('= e = AN — = T TERSESSCnosmzozooas!)
writeln(’ AV g 1y
writeln('=s====== s==== = ===zzzzzzzozasc )
writeln(’ A : &
writeln(’'ASSUMPTION :- %3
writeln(’ '3
T A3 W?J']IJ ‘5 i
writeln(' 1. Referenc a i ) 43
writeln(' 2. The illumi tlon o tam w1th average value over the whole of the £
writeln(’ woxking plahe assumed to be 90 om. above )
writein(' = 3, il
writeln(’ % F{ﬁ )
writeln(’ horiz ]
writeln(’' 4. The orrection factors for d ~rt accumulation assume cleamng at about '3
writeln(’ 31xmounthly intervals. i
writeln(' 5. The sunbreak angle is in range of 25-50 Degree from horizontal plane, 4
writeIn(’ 6. The monitor type '3
writeln(’ Ridgetype monitor : single, double or repetitive i
writeln(’ Flattype monitor : repetitive =
writeln(’ &
writeln(’ i
writeln(’ e
writeln(’ ; --1)
writeln( <Any Key>Continue ‘ : <ESC>Exit’);

end;




procedure Skys_ass;
begin clrscr;

writeln(’ :::::::::::::::::::::.::::::-"
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o et

writeln(’

writeln( ======z=zzzzzscocacoccanonas

: SKYLIGHT AND SAWD&GTH ROOF : !

writeln('
writeln('ASSUMPTION -
writeln(’

writeln(’ 1. Reference on the Publication CIE No.16 (E-3.2) 1970.

writeln(’

~ writeln(’ 2. The illumination obtained with average value over the whole of the
working plane assumed to be 90 cm. above the floor

writeln('
writeln(’

writeln(’ 3. The average 111um1nance is
from skylight and from )

writeln(’
writeln(’
writeln(’ 4. The correction fa
writeln(’
writeln(’ B

writeln(’ 5. Assume the refl
writeln(’ the same. ;
writeln(’
-writeln(’
writeln(’
writeln('
writeln(’<Any Key>Continue
end; ;

(

procedure Skym_ass;
begin clrscr;

writeln(’==
writeln(’ ,
writeln(’=== ===
writeln(’ :
writeln(’ASSUMPTION :- i
writeln(’ !
writeln(’ 1. Reference on!the.
writeln(’ ™ &
writeln(’ = 2. The illumitiad

writeln(’ working p
writeln(’ .
writeln(’ 3. The averagehﬁl

: wri:e%ng: from skylight<a
writeln

writeln(’ 4. The cor ection%ﬁo
writeln(’ si
writeln('

writeln(’ 5. Assume he re ectance o the glass of skylight and monltor roof is

writeln(’ the s i
writeln(’
writeln(’
writeln(’
writeln(’

. sixmounthly inte_’;ld

nd from moni tor roof.

AN IUNNANYIAY

e e e et i S

ation be&ween average il]umlnanca

skylight and sawtooth roof is

SESCO>Exitl)

on between dverage illuminance

. % %;Wﬁﬁ ﬁﬁ cleaning ot about

writeln(’<Any Key>Continue
end;

{

end. {unit DL_A_ MNU)

i : : )

{*****************************************************************************}
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auhlit DLI MNU
interface

uses DOS,CRT;

procedure VW_inp;
procedure Sky inp;
procedure Saw_inp;
procedure Mon_inp;
procedure Skys_inp;
procedure Skym_inp;

implemental.ion

{ S lles e e s 7 - ,__,_‘_,____’.‘ : -t k v__'} .

procedure VW_inp;
begin clrscr;

R T o Sy S )

wril;eln( T ‘\ £ 1, B ::,::::::::::i::::;::::::::: ! ) L
writeln(’ : ‘ o 'y
writeln(’'==z==z=zzzcso=cozoze=n-os - ‘ SESSTSSSSEISSIsSIssosSssiTosos i L
writeln(’ ' 2
writeln('Design for opposite wall) g
writeln('Location Al /3:Industrial) i
writeln('Class of Industry A
writeln('Latitude "y
writeln('Daylighting lours )
writeln(’ Y
writeln('Room : Lenglh i
writeln(’ Width - b
wrilteln(’ Height )
writeln(’ 1)
writeln('Window  : Width i
writeln(' ; 9
wrlteln( e e 3
writeln('Transmittance 1 . % %
writeln(’Obstruction Degre '_ 13
writeln(’Overbang : c1 = & m. 3
writeln(’ hi m. 4
writeln(’ anglel : ; — Lo
writeln('-——~———meemn o o )
writeln(’ <F1>Help ; <ESC>F\it 3
end;

i ﬂ%ﬂ%ﬂﬂ%?ﬂﬂ’}ﬂ% ----------

-procedure Sky_inp; '
begi.n elsor! . 4
writeln(!====; = Embstsaesonna ] ),
writeln(’ q w q il

‘weitelnl'=z==== :-:...::_ P S I R e v ss s e W ) ) :
writeln(’ B
writeln(’ LO(‘atl on : Gl Country/Z Residential/3:Industrial) 'Y
writeln('Class of Tndustry 4 (1:Clean/2:Dirty) 134
writeln('Latitude . Degree(N/S) - ok
writeln('Daylighting Homing o ol 0
writeln(’ e
writeln(’ ——= e o B e e bt e )

- writeln(’ Building : Length g m, Y Glass ¢ Length £ mn. 0 2
writeln(’ Width m. : Width : m. i
writeln(’ : Height m. : Slope $ . Degree i
writeln(’ : Amount. : Units: i )
writeln(’ ; Transmittance : o o
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writeln('———-—--cmmm e S8 s SO S g LS P
wrilteln(’ :

writeln(’ Reflectance : Roof

writeln(’ Wall

writeln(’' Floor

wrileln(’ : Glass

writeln(’

writeln(’———~—=—m— =
writeln(’'<Fi>lelp

end;

4
% )
% y
% 4
% 1

FSCO>Fxit’

. e e e i N
e e

procedute Saw_inp;
begin clrscr;
write]n(’:::::::::::::::::::::::::: _______
writeln(’
wrrtelnl 2ot cc s rannorsonesnsnaraniy
writeln(’
writeln('Localion
writeln('Class of Industry
writeln(’'Latitude
writeln('Daylighting Hours
writeln(' '
writeln('——~~---mmmm / R Lt R e e e e e e y
writeln(’ Building @ Length

writeln(’ . Width
writeln(’ Height
writeln(’
writeln(’
writeln('’
writeln(’—-~—v--—smmmm e
writeln(’
wrileln(’
writeln(’
writeln(’
writeln(’ P
writeln('———————cm T
writeln(’ <Fl>He]p

end;

procedure Mon_inp;
begin clrser;
wreiteln('sesssscaoeconsnnznes
writeln(’ : :
wpiLeln(':::::::::::::::::::::: ________-___-_ _----,_----_____-__-::::::::::::::::’);
writeln(’

“writeln('Location ﬂ u El q w &ﬁﬁﬂﬁ?ﬂ@ustmal)
writeln(’'Class of Indi

1

1

writeln('Latitude Degree(N/S) : :
1

,

~wrileln(’'Daylighting llouzq :

el ™ IR 'zmm*mma B o g

writeln(’ Bul]du ¢ Length | Glass : Length v m

writeln(’ Width m, : width ... m

writeln(’ Height : S ] Height : m.

writeln(’ ’ H Sunbreak : %

writeln(’ , Transmittance : %

writeln(’ ! Span ‘ m.

writeln('~-——- s =+ e e e e 3
writeln(’ ‘ Ref]ec(ance : Roof % !
writeln(’ . Wall % ,
writeln(’ : Elooy % !
writeln(’ Glass % {
writeln(’——-—semeeen R !
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writeln( '<Fi1>Help
end;

( : —-e- memmemmen e )

<BSC>Exit’)

procedure Skys_inp;
begin clrscr;

writeln(’ DAYLIGHTING DESIGN : SKYLIGHT AND SAW'IOUI‘H R{I)F !
writeln('sscers-ragerasnssenasndisnrnn o o e A e e B i S R B LR

writeln('’ :
writeln('Location : (1:Country/2: Residenl,ial/fi Industrial)
writeln(’'Class of Industry : (1:Clean/2:Dirty) ‘
writeln('Latitude : Degree(N/S)

writeln('Daylighting Hours : %

writeln(’ : ik :

writeln(’ Building : Length : | lectance : Roof : %
writeln(’ - Width ' // A NEEle e %
writeln(’ Height [ / / Flcor i %
writeln(’ : i ' . fo Glags - oy o %
writeln('-~———=———— R e }—#—4—-'—

writeln(' Sl\yl.tght’—" - 4 “ Sawtooth Roof
writeln (- e - :
writeln(’ Glass :
writeln(’
writeln(’ .
writeln(’ Transmittance :
writeln(’
writeln(’ ; ‘ - o : m. oo
SREESTAT® - St i Ll - 5

writeln(’<F1>Help <ESC>Exit
end;

1
I
i
1
1
1
1
1
¥
i
i
i
li
i
I
1
!
1
i
i
1
i
1
i
I}
i
i
1
1
li
1
i
i
i
1
it
i
1
I}
i
i
¥
i
1
i
[}
i
1
1
1
i
4
i
¥
1
1
H
¥
1+
1§
"o
1
i
1
1
1
1
!
!
!
1
i
|
1
i
i
1}
i
1

o e S i S M A 0 Al e

AR S U U O g TN S

-

o e 5 o o . Bt i o e e B o o e e i o

it o s i e Rk i ST

R
- R -l - - -

<3
procedure Skym_inp;
begm clrser:

wri teln( emoromr s m e e e
writeln(’

writeln('Location S0 ; Residential/3: Industrial)
writeln('Class of Industry ™ : : ‘»

writeln('Latitude
writeln('Daylighting Hours
writeln( 'Monitor Roof Type -
writeln( ' ———————em
writeln(’ Building : Length
writeln(’’ Width
writeln(’ Height

s

‘ :‘%ﬂ itive/d:Flat)
: fleci‘;anéev Roof

: i Wall

l

o s s s o e o

.

writeln(’ i

- 4 gfms NINYAAS | E
writeln(’ H ionito Roof
writeln(’'—————mee——e B + -......

‘iﬁa\ﬂﬂ‘ﬁu 1) g wﬁiﬂﬁﬁ El

writeln( 1 Sunbreak : .
writeln(’ Transmltbmce ; : Transmittance :
writeln(’ ! Span :

writeln('- *
writeln(’<F1>Help |
end; 5

ed.  {unit DLIMNU) | ' “

(***********tk**************:k*:lA!******************************#******'****:k*rk****}
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unit DLH_MNU;

interface
uses DOS,CRT;

procedure VW_help;

procedure Sky_help;
procedure Saw_help;
procedure Mon_help;
procedure Skys_help;
procedure Skym_help;

implementation

{(~——m e e s '—-—--A--“ pers ——— |

procedure VW_help;

begin clrscr; 3 - S :

; wr]tpln(':::::::::::::::::::::— : "7M . »~===:::::===::=:::::::::::::::');
writeln(’< HELP MFNU >

‘writeln(’

writeln('

writeln('Design for

3. opposite wall).

e NS g i Ty i 1 v S PG 3 Ao

1
wrileln('Localion C tial/3:Industrial). )
writeln('Class of Industry : ¥ ; > )
writeln(’Latitude ] LR R 13
writeln('Daylighting Hours fpes 09.00am. to 17.00pm. 1%
writeln(' ey WL \ . h
writeln(’'Room : Length 5 mefor' 6.0 m. and Up). : i,
writeln(’ Width 9,16.50kn %or 7.5 to 32.2 m.). '3
writeln{’' . Height 5 m’ br 2.7 to 3.5 m.). ")
writeln(' 3
writeln('Window : Width or 60 to 90% of window wo.l]) e
writeln(’ Height S o 3
writeln(’ 0
writeln('Transmittance 3
writeln('Obstruction Degre S
writeln('Overhang : ¢ 3
writeln(’ - o i
writeln(' ~ angle i
writeln('- - =L : e b

~writeln( ' <HHOME> Input. Menu <ESC>Exit’)
end; g

ALY wﬁmwmﬂ—'—s ----------

procedure Sky help,
begin clrscr;

writeln(’=== =y = s=zZzzozzzssszza )
A TR SETA
wrif,e]n('===== SE L LS S e i

L T S S NS e o= ::::::::::::::‘Z: ' ) )
writeln(’ ; e
writeln(’ LatLtude : : 65— 20 Degree(N/S)
writeln(’ . ‘ ;
writeln{(' Daylighting Hours ¢ 80-95 % of perlod 09.00am.~-17.00pm.
writeln(’ :
writeln(’ Building Width : It must be greater than 1.5 time building height.
writelnfl =, ; -
writeln(’ Building Height ¢ The building wall height.

Vs

writeln(’ 4
writeln(' Glass : Length, Width : 'Ihe dimension of a glass which measu.ted pax allel to

® e e e el e e

N e st et et it ol il Sl el
e me wa s s e we wa we we e WA s

writeln(’ the glass. :
writeln(’ Slope : Measure from horizontal line. : -
writeln(’ : Amout : The total number of glasses. ;

writeln(’ Transm’i ttance : 30-100%.
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writeln(’ :

writeln(’ Reflectance : 0-100%.
writeln(’ ;

writeln(’

writeln(' _

writeln(’ ————— -

wrriteln(’ IOME> Input. Menu

end;

- W

procedure Saw_help;
begin clrscr;

writeln( 'mmssosomzosoosssssssssosoooozzos =i Szzzzzzzcszocsoozs=s==zx' ).
writeln(’ DAYLIGHTING DESIGN : SAWTOOTH ROOF k
writeln(’::::::::::::::éh-_ﬂ_-==== ........ b8
writeln(’

writeln(’ Latitude .

writeln(’

writeln(' Daylighting Hours
writeln(’ '
writeln(’' Building Height OB
writeln('’ _ ;
writeln(’ Glass : Length, Width :
writeln(' . :
writeln(’ Height
writeln(’ Slope
writeln(’ Transmittance :
writeln(’ ~ Span
writeln(’
writeln('Reflectance
writeln(’
writeln(’
writeln(’
writeln('’
writeln(’-
writeln(’<HOME>Input Menu
end;

(
procedure Mon_help; | = o _ _ sl i
begin clrscr; : = - e -
writeln('======zzz=zcc==ce=d S s e
writeln(’ ) :
weiteln( '======== j B ======2nee R e ; b
writeln(’ .

writeln(’ Latitude Degree(N/S)

writeln(’ Daylighting

- i\ m{ﬂm m
writeln(’ Building Hel

writeln(’

writeln(’ Monitor Roof Type

writeln(’ 2 ‘ i

2 s TasmanmmERL 0y
writeln(' 3:Re iv titive itor

3 4:F1

writeln(’ = Repetitive Flat type monitor roof.
writeln(’

1
b ;
’
'
)
writeln(’ Glass : Length, Width : The dimension of a glass which measured pa"ralell !
writeln(’ ¢ to the glass. :
’
’
]
1
¥
]

- W e W e dw wlie W W wme e e e e e -

et N i S i N el N S i e e i e e e il S ~
et we we We We We We ws we ws WA WE We we Ws W ws We We We Wi wE wo w

-

<ESC>Exit

writeln(’ Sunbreak ' : 25-50 % of window width on one side, Fixed
writeln("* ' ‘horizontal sunbreak.

writeln(’ : Transmittance : 30-100 % : :

writeln(’ Span { ¢ The distance between the center of two monitors:
writeln(’ : : -
writeln(’ : ‘ :

writeln(’<HOME>Inpiit Menu =~ . ~ ~~ ° R I e : <ESC>Exit
end;

{ : R - }

vvvvvvvvvvvwvvvvvvv
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procedure Skys_help;
begin clrscr;
writeln( e T T ] L]

1t@1n( <HELP MENU>  DAYLIGHTING DESIGN : SKYLIGHT AND SAWTOOTH ROOF

wr 1teln( 5

writeln(’ Latitude - : 5-20 Degree(N/S).

writeln(’ :

writeln(' Daylighting Hours : 85-95 % of period 09.00am-17.00pm.

writeln(’ :
writeln(’' Building Width {
writeln(’ Building Height + !
writeln(’

2
=
e
-
o
p_a
=
—~
il
i
i
i
il
]
i
i
1
i
i
1§
It
H
i
i
{
1
i
i
it
i
1
i
i
1
1

sreater than 1.5 éime building height.
’ height.

writeln(’ Glass : Length, Width : The di 3 ; ass which measured parallel to
writeln(’ A the glas

writeln(’ Height e - wer edge of glass above floor.
writeln(’ Amout , EESTREE0ts ol KAk

writeln(’ Slope

writeln(’ Transmittance :

writeln(’ Span

writeln(’
writeln(’'Reflectance
writeln(’ '

writeln(’

writeln(’- ——
writeln('<HOME> Input Menu
“end; :

{- Ay

PRSP ST S VSRRSO Y e T WS R N R e

<ESC>Exit’

— St ot o S o e S o o el i Sl S "t vl il et St et S s St st

4 s W4 wa e wa wh W WE We WA WE We MA WA We We W e we We Wy we we

procedure Skym help;
begin clrscr; ;
writeln(’'== : = : 2, :
writeln('<HELP MENU> DAYLIGH \ { 1 SKYL AND MONITOR ROOF
writelnl ! ==coeccoecnceocteoal =
writeln(’ ¢ :
writeln(’ Latitude ™
writeln(’ Daylighting HougSe—+ B5-05— 00" 00am-<

writeln{' = | ‘ ‘ " '

writeln(' Building Width ! fime of building height.
writeln(’ Building Height - Zh |

writeln(’ -
writeln(’ Monitor Roof Type : ;
writeln(’  1:Single = ''sihgle Ridge type‘mbnitor roof.
writeln(’ 2:Doubl ul 1 >

writeln(’ 3:Repet

writeln(’ 4:Flat qg = Repet t ve Flat type mon

1
1
l
i
i
1
1
1
1

A AT T

writeln(’

e s WA ey e e s we WA WA We @ MM W W ws e v we s ws e

—r ! et S et e e et sl ek el e e S S N St Nl Nt St e st it

¥
S I

writeln(' G ed paralell :
S TN SRR IAT T
writeln(' Fixed sl
qpiteln(' " horizontal sunbreak. 2
writeln(’ Transmittance : 30—100 % :
writeln(' Span : The distance between the center of two monitors. !
writeln(' b : : 1
writeln( ' <HOME>Input Menu S : : : <ESCOExit’)
end; : ! ‘ :
{ ; }
end. {unit DLH_MNU}

{ *****************************************************************************}



unit DLDAT;
interface
uses DOS,CRT,DLVAR}

procedure Eext_dat;
procedure Glass_dat;
procedure Dirt_dat; -
procedure VW11l _dat
procedure VW12_dat;
procedure VW21 dat;
procedure VW22 _dat;
procedure Obsl_dat;
procedure Obs2_dat;

implementation

procedure Eext dat;
begin
y[1]:=95; y[2]:=90;
%l1]:=8; all,1]1%9%
x[2]:=10; a[2,1]:=12800;
x[3]:=15; a[3,1]:#808
x[4):=20; al4;1]:
end;

)
procedure Glass_dat;
begin
x[1]:=85; a[1,1]:=1; /
x[2]:=80; al2,1]1:=0.8
%[3]:=70¢ al3,1]:=20.W
x[4]:=60; 'a[4.1%:=0‘
x[6]1:=50; .alb5,1]:=0.
%161:=40;  al6,1]:=0.
x[7]:=30; al[7,1]:=0,
end; ‘ & v ‘
{ g . !AJ.J'..L'V:"‘.‘V & }
‘procedure Dirt dat, T L
begin ! < ;
b(1,1,1] S
bil,2,1} b b i
bi2,1:11 itby bl2 ail 3
b[3,1.1] 03 i
bl3,2,11: . 35 -1
end; : :
£ : }
proced : O
=~ AN AN IUUNRIINYI8
y[1]173805 | v ly318-80;
x[l]‘ a 1)1]==1095; 6[1.2]:=308; a[1,312=608;
x{2]):=2; a[2,1]:=1.18; al[2,2]):=2.25: a[2,3]:=3.4;
x[3]:=2.6; 'a[3,1):=0.86;: af3,2]:=1.6; al3,3]:=2:4;:
x[4]:=3; a[4,1]:=0.69; al4,2]:=1.21; a[4,3]:=1.86;
®[61:=3.5;: al5,1):=0.66: alb,2):=1; ~al5;31i51:62;
x[6]:=4; al6,1]1:=0.48; a[6,2]:=0.83; a[6,3]:=1.29;
Zhadurd.bs  all,11:20. 45 atl,2]:20.73  Bbisslicit}
x[8]:=5; a[8,1]:=0.34; a[8,2]:=0.68; a[8,3]:=0.95; ;
end; ; : -
{
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procedure VW12 dat;

begin

yl1}:
x{1}:
xl 2}
x[3]:
x[4]):
x[6]):
x[6]:
® 1) e
x[8]:

w0
(1] N

o ononnun
e L0 LN DN W
s we o
< <

{3,

y[2]:=60;
af1:1):=
af2¢1)18
af31]=
ald;1]:=
a[b,1]:=
alb, 1] s
al?:1} =
a[8,1]):=

i
b b b et DD DD B D
W TN W x
s DN e --

-e we we we wa

e an i nn

procedure VW21 _dat;

begin

y[1]:=60;
o B 3 o1
wl2l:=5:
o N Eon
x[4]:=7;
*{6)i=
xikblis
x{71:
x[8]:
x[9]:
x110] =
xlit):=

end;

(___

v[21:=90;
al1,1):=
af2,1]:=

al3,

al4,1]:=
afb,1):=
af6,11:=
alt, 1]
af[8,1]:=1.
a[9,1):=0.9

81101 =9,

alf11,1]:

—~

_ procedure VW22 dat:

begin

yl1]:=
zi1):=
x[2]:=5;
x[3]:=6;
x[4]:= H
#f5):=
x[6]:=9;
xi7)i=
x[8]:=
x[9]):=
‘xf10]:=
x[11}:=

end;
{

y[(2]:=90; !
al1,1):=4.5;

a[9

.1
%

al8,2]:=1.86;
a[9,2]:=1.65;

?ﬂﬂ%ﬁWﬂﬂﬂﬁ

procedure

begin

yvil]:
x{1l:
x[2]:
x[3]):
x[4]:
x[56]:
x[6]:
xtill:
x[8]:

end;

i

il

[¥:1]):

af8,1]:=0.

f;;; hmnmummmaa

0.98; a[1,2]:=0. 92'
af2,2]):=0.77;:

af3,2]:=0.7¢

a[4;2]:=0.68;
a[5,2]1:=0.65;
: al6}2]:=0.63;
; al[7)2]:=0.64;
al8,21:=0.67;

a[2,11:=0 943

.l
843

; af1,4}:=0.27;
: a[2,4]:=0.33;
+-al3,4]:=0.37;
3 a[4,4]:=0.40

5[8:4]:=0.51'

!
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procedure Obs2_dat; !

begin _ ! _

v[1]:=0; y[2]:=10;" y[3]:=20; y[4]:230; y[5]:=40;

x[1]:=0; x[2]):=10; x[3]:=20; x[4]:=30; x[5]:=40;

xy[1]:=6; xy[2]i=6; xy[31i=7;" xy[4]:=8; xy[5]:=9;

xy[6]:=10; xy[7):=11; xy[8]:=12; xy[9]):=13;. xy[lO]'-14; .
bf1,1,1]:=1:°bl1,2,1]%=0. 95 b[l 3,1]:=0.835; b[1, 4,1]1:=0.725; b[1, 5,11:=0.685;

b[2,2,1]1:=0.89; b[2,3,1]:=0,78; b[244 11:=0.665; b[2,5,1]+=0.625:
b{3,3,11:=0.66; b[3,4.1]: ~o[575~ b(3,5,1]1:=0.525;
bl4,4,1]):=0.62; bl4,5,1]:=0,425;
b(5,5,1]:=0.375:
b{1,1,2]:=1; b(1,2,2]:=0.93! b(1,3, 21 =0.81; b[1,4,2]:=0.74; b[1,5,2]:=0.70:
b[2,2,2]:=0.87; b[2,3,2]:=0.75; b[2,4,2]:=0.67; b[2,5.2]:=0. 627;
b(3,3,2]:=0.64; b[3,4,2]1:=0.:57; b[3,5,2]:=0.53;
bld,4,2]:=0.525: b[4 5,2]:=0.45; :
b[5,5,2]:=0.41; | ]
b[1,1,3]:=1; b[1,2,3]:=0. 924 b[1,3,3 131:=0.75; b[1,5,3]:=0.71;
b{2,2,3]:=0.86; b[2,3,3]:=0. ; [2,5,3):=0,628;
b[3,3,3]2=0.63: b[3’4,3] = .
b(4,4,3]:=0.53; b[4,5,3]:
b[5,5,3]:=0.43; :
b(1,1,4]:=1; b{1,2,4]:=0 .76; b[1,5,4]:=0.72;
b[2,2,4]:=0.825; b[2,3, :20.63;
b[3,3,4]:=0.625; b[3,4,
b[4,4,4]:=0.535; b[4,5,
b[5,5,4]:=0.435;
b(1,1,6]:=1; b[1,2,5]: 7; b[1,5,5]:=0.73
b[2,2,5]:=0.81; b[2,3, .632;
b[3,3,6]:=0.64; b[3,4,
b[4,4,5]:=0.54; b[4,5,
b[5,5,5]:=0.44; ,
bli1,1,6):=1; bl1,2 6]'-0 912 i b[1,5,6]:=0.74
b(2,2,6]:0.81; b[2,3.6]:~ 0.633;
b[3,3,6]1:20.65; b[3,4,
b[4,4,6]:=0.545; b[4,5,
b(5,5,6]:=0.445;
b[1,1,7]:=1; b[1,2,7]:=0.915; - 843 bl 4,71:=0.79; b[1,5,7]:=0.75;
b(2,2,7):=0.82; b[2,3,7]:=0.76; : » 2,5,7]:=0.635;
b[3,3,7]:=0.675; b[3,4,7}:=0.60;
b[4,4,7]:=0.55; b[4,5,7]: =0.505vﬂ
b[5'5,7]:‘-0045; . Al s z . | : .
b(1,1,8]:=1; b[1,2,8] :2092+ bi1,3,81 4,81:-0.80+ b(1,5,8]:=0.76;
b(2,2,8]:=0.83; b[2,3,8]770. b[2,4,3]:= 1:50.637;
b(3,3,8]:=0.69; b[3,4,8
bl4,4,8]:=0.56; b[4,5,8]:20.51
b[5,5,8):=0,455; - »
b[1,1,9]:=1; b[1,2,9]1:=0.93; b[1, 3 9] =0.86; 1 4 9] =0.81; b{1,5,9]: =0.77;
b[2,2,9]:=0.86; b[2,3 9] -o 9].=0. 2)5,9
b[3,3,9]:=0.71; b h%
b[4,4,9]:=0.57; b
b[5,5,9] =0.46;

bl1,1,1

2,2’

0]:=1; bl1, 2 0] =0. 94 b(1,3, =0.87; b[ 4, 10]‘*0 82; +5,10]:=0.78;
b[ 10]:=0.86; ' = i=
Wﬁﬁ«mﬂi w gt
b[4 4 10]

end, ; - :
{ ‘ : }
oid {unit DLDAT} ; ‘

{kkkkkokkokokkkkkkekokkok KKk ********************************************#;***}
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